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st ToTereRs arsrarn

(CTET) uiiar-2022

TR T (Class I-V)

(Shift-T)

AT Fied TUH YIA-U T &7 (ot Faifr : 06 wardt, 2023)

Child Deyvelopment and Pedagogy
T TererTa Ta ToTeTmyTmet

1. While at times, different domains of
development intersect in explaining human
capabilities, yet which of the following domain
of development explicitly discusses intellectual
abilities such as problem solving, critical
thinking and logical reasoning?

I fufest ®, fammma & fafiwsr O A=
QuaTstl Tt STEAT A H U Ufeese wid
g, qenfy faem &1 ®E-T 89 yg w0 9
sifger  droaed W9 fe A@ET-wweE,
qUTATeATeR o= i arfeherar st wgaan
et YT &2

(a) Physical/TR&® (b) Motor/TTETHE

(c) Social/gmHfsih (d) Cognitive/FAMIHE

Mass media, Family/SHE=R #1&H, qRaR
School, Familyfl%l'ﬂ'lﬁ?f, IRaR

Family, School/aRaR, faarer

Print media, Mass media/ﬂfiﬁ ey, SHEER
HIEgH

Ans : (¢) IR FrcamEer & EF URAR GHTSHOT
1 WAH HRH ¢ Fih aredrEae & e 5 au #
wRar & o & died F uhar § s qfte &
foded &t & fored Arr-faar st & 9Rfe R g
2 S 5 Wl dR W SR, W S, 9 aen
Aftes i B FE I F1 e & A % oww
fermera wmSiRtor &1 e Sre 8, it faames J
& 9% % Tgud faeE S wGRA Ry @Rt € e
foenmer aTets & qd I @ T9E I9 9 Sigd § wwEe
el F e 21 Y as 39 F §he
TR &9 91 R

(a)
(b)
(©)
(d)

Ans : (d) 3% Refadl #, fow & fafw o7 gmdE
gAAE & e HE § R gfese & 8, a9y
forshT 1 ‘UYEIHS & I &9 4§ slifgsh qrraarsi Sy
5 GHE-guYE, GHEAS A 3N difehehar @i
AT aaw‘w%wmmﬁwﬁamﬁwﬁ
AR gEaet (s, w6, R a9 g guEE) &
B § A 3 S vEEer § @ T @ 9 1
TS o fashraee s 21

2. Development proceeds from

to
......... wH AT T@AT R
(a) head, toe/R, W
(b) complex, simple/Sifed, T
(¢) extremities, centre/dTel, H5
(d) specific, general/fafRTy, drHe=
Ans : (a) @ R 9 W i 31 5@ 81 fFow

fogia AT (Cephalocavdal) gl shgerr
ved i, fi ew sl

............

1T
3
3
>
!
i+

4. As per Jean Piaget's theory, if a scheme does
not produce a satisfying result, then takes
place.

ST frw & fagia & ER, 3R T& @hid
e ity & qar g, v I BT R
(a) Imitation/3AJhI0T
(b) Disequilibration/ﬂ?ﬁ?ﬂ
(c) Conservation/S&uT
(d) Zone of proximal development/f&E
ey &
Ans : (b) STH el & fgid & ST ER 3R TH @i
e uRum 98 % W g, @ Eged I gl 2l
I & Rafd #§ ads & 3T I e | g9 gsd@
2 T oo % W § S % 4 STEdI & Refy Seaw
T g1 S frarst J e fasid § 9R wE s &
Fuiq feam 8-
o TAd TMHE STERT (0-2 )
o 79 Tfspares srawam (2-7a)
o T HfshaT® ITEwAT (7-TH)
o 37/ STu=e WithaTes (7-1199)
S s & fasid § de @ g9fe g deaes
YT & S S & |

........

3. During early childhood,
agent of socialisation and
agent of Socialisation.

YRR STeamaeen & SR,

is the primary
is the secondary

.........

5. According to Jean Piaget's theory of cognitive
development, at which stage do children begin
to understand object permanence?

S s & gaETae o & fagia &
IFER, T fRE orEem § SRg T
THSAT AR HT ad &7
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Sensorimotor/FaE-TTH
Preoperational/‘ﬁ-mﬁ"ﬁ

(c) Concrete operational/Jd-HfshaTesh

(d) Formal Operational/m HfsharaTe

ns : (a) S AN & GO O & g &

IR Tod HAd-Mme TEeqr 9 T |
RN W 30 &1 vl a=dl § a7 gHw faefd 2 o
2 o awqell & e a9 ff @ @ oW 3% &@l @ik
B3N TE S HHAT| S IS 7 310 S e &
Rrgid & =R @ S P avt R 8 S e 8-

(a)
(b)

Sl ERNIES

1. §a e e T WifE, @,
(0-278 ) S8R FHl 34 |

2. U9 TiHITs ST | STH-HEhdl, HIeqH
(2-7 o ) oo, Ty e b fohr |
3. HichaTHsh A€l | ORI HHEGA], ALl
(7-11 a9 T*) T difehe A |

4. 3M9=TR® TS | T alfcheh feiad (Abstract
AT (11-15 aH) Thinking)

6. When Raman was presented with 'Heinz'
dilemma', he responded that Heinz should not
steal the money because stealing is a crime and
doing so will cause disturbance in society. At
which stage of moral reasoning is Raman at
present?

WH o GHE T @ gfaen’ wega s TR
3= yfafhar =k &t TR 3= & e =
T ST SIS ART hEAT ST § X 8T
w A g ¥ ereawen Yer efh adu

T Afeeh foremma @t fore oTereer # 772

(a) Obedience and punishment orientation/
EUE)

(b)

Instrumental purpose orientation/ JEI EEAE)
EIRIERIE]
(c) Good boy-Good Girl orientation/ 3T=5T
Law and order orientation/ ST Td =qaedl
Ffufa=mg

Ans : (d) TH % T899 %ﬁrﬁgﬁm TeT A TS| 3G
fafseen =6 @ 5 gl @ 0 A g @ FEE
= HTT Y @ SN T B @Wﬁmawﬂ‘a[
gt ada & e Afs faeE @ @ wd

=g’ efaeer § 2 %W%ﬁﬁmﬁw
fagid # ‘oifes @ & Fa€N IR % I ST Bl
Higcaatt 4 99 foRN 1 MUN 3= 1 Heareue fohehded

(d)

feregeetm sl =T 2 |
Note: et & Afds fGwm fHgia & &9 &) a0 3¢
g foreteq &-

iy =
1. gd oifhd | SR 1: Tl A A
W (4 ¥ 10 | fuf=mg- =9 sEen 4 o fam
&) died ¥ a9 @ 98 9 @ fF Al

A4 98 & Al df &8 Wl T
g 3fud g % § faw faeg =
T HE|
LT 2: HRUT Hroey AffE- 59
aﬁwﬁqmquoqqau {‘ClQ'H’-I@
Sieqed &l @ 37d: 98 qiadl @ 16
I qE FM T W T §, AR
T2 R i
TN 3: 3T ASH)/ITR ASHl
Aff=rg-39 ofawer H S 98
T & f Fbet F AWM @ u @
ST A AH-ara T g S |
A 4: A UH  FHEE
Afufrrg- 39 sl H e T8
e 2 f6 “Iil T e @ i
Ig g9 & e & g 21
fqT 5: gHifee gfear ififeg-
39 eyl | oA g8 qradr ¢ f6
T B, Ak deee aRRefy
I eTavIedl @ SR ga emER
S T BT 8
G L TS | G | o e MRS B
A=g- 7 Aftes fomrd i gare
maw%svﬁw%méﬁ
et & Sfem wn ¥ e H 3w
g@ﬂﬂ%ﬁﬁwﬁmﬁ‘a’ﬁ‘zﬁaﬁrq
|

7. Which of the following statement is correct as
per Lev VygotsKky's ideas?

D AR o foERl % IgER T W 9
HIF-TT HIT T 22
(a) Social isolation contributes to learning./
YIS LFBIBOT SR & FEr e |
Children learn best without support of others/
T g % WA & N T o
§ diad £
Cues and hints impede pace of learning. /Gt
3 Heg S & T F iy tey e ¥
Cultural tools contribute to the learning
process / HIEHiieh IUHL0T SMRAH HY Afehar |
FreE 2 E

ns : (d) 99 TG & AR & SFIER WiEHhH
IUHT AR F AR F e 39 &1 o areet
B gh fagia wwie Gt fgid & &9 § S
ST 1 S i 1 g SMUR ST W (o
T T T

8. In accordance with Lev Vygotsky, which of the
following method of teaching-learning

promotes learning?
DI TR o AR, fYrerer-rfie @t
e § @ -t faftr oftrm & wgee et

®?

2. difhsh &N
(10 § 1391)

3. 9g-qlfse
W (13 a9
g 3fe)

(b)

(c)
(d)
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Passive imitation/FfSha e
Cooperative learning/Hg4rit 31ferm
Expository teaching /&A% {eror
Stimulus-response conditioning
ECRERRIERINCE T
Ans : (b) TG AR % AR, Fwgo-aiferm § wganh
T Je fafr @ S ST 1 9e S 81 98 U JHN
%) At fown & o o @1 9 @1 91 wg § W
AT S G A SEEROIS W oW S G ad
quEEt H GHHE QST ST a:m e e
@W%ﬁ@ﬁ%a&aﬁ{{rw%mm%ﬁm,
I 3R & I G B F Qe A 3
9. Child-centered education advocates for

STeT-ohf=sa Torer fergrent argoraT st €7

(a) standardised curriculum/AehiHd plcPee

(b) use of rewards and punishment/JT&hR 3R
QUg ohl
consideration of individual differences
Fafche Frasil W e 3
inculcating entity belief of ability/?iﬁm?ﬂ e
TTETEl 7 1 G e

Ans : (¢) I Hi=d R Tgfa 5 fen &1 = fag
i (frendf) @ar 81 st & ®fEi, gl qen
Argaret e & oA § e & e wem R S
21 TS Tk H A ¥ (ARRTE) e feE S 2
aofq frsg ael & fIu oo geasn aa 62 gfy
el % fore AT e w5 2 gEenel @ R
H H TATH AT ST 21 3 e hiesd fen ste
fefrerenedi @ eam 39 @Y Srgeier B @ SR gEH s
H gEERl B W S fau A 3 ST
femequr foham sirar 21

10. As per Howard Gardner's
intelligence, intelligence

TS MET o Tl oh (UG o ITAR, qfeg

(a) levels are same among all children

& wd o=l § THEHH R A &

is a 'general' ability which has no biological

base/Tsh ‘WH

YR 4 2

is fixed from the birth and does not get

impacted by environmental factors./STH &

feer ¢ 3R 39 W wRawia FRH F FE g9

T T 2

is of many kinds and individuals possess

different levels of different intelligences./ﬁ

TR B @ i =R & ur fafe weR

# gfs & fafe X a9 £

Ans : (d) 39 TER & g » fGEA & IFER, S

ﬁﬂ;ﬁﬁaﬁﬁ%ﬁaﬁéwﬁﬁaﬁ%?ﬁmwaﬁ

qfg & fafie = | 39 fagid & FqER, dfs &

EEY THGH 7 FH TgHNS BT &1 e MER 7 T
TE HE G AES § A v e B oafy @

Ww%wﬁ#ﬁﬁé@mm%r’

(a)
(b)
(c)
(d)

(©)
(d)

theory of

(b)

(c)

(d)

Assertion (A) :

Socio-constructivist theories of learning
emphasize on creating print-rich environment
in the class to facilitate learning process.
Reason (R):

School climate does not play any role in
language development and language
development is entirely dependent on biological
maturation.

Choose the correct option.

MURAT (A):

ARATH T ATHTh-TeHTaet fagid Tfrm
ko i WEw-GH s % fow wem o
qisda-Hgg URaAv & Yo W 9T e B

e (R):

aTeT forehTa ¥ faemersr & ufRagr @t g it
& € iR 9w faww Tt wE ¥ Saww
ftuererar W et g 21

w&t fawew |

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/ (A) 3R R) gl
TE 2 3 (R), (A) F TE AT FIA 2|
Both (A) and (R) are true but (R) is not the
correct explanation of (A)/(A) (R) eIl
e & Al (R), (A) 3 T = 78 21
(A) is true but (R) is false/ (A) F& & wfeh
(R) Tt 21

Both (A) and (R) are false/(A) 3R (R) &t

(b)

(c)

T & Afh (R) T 21
12.

Boys are very powerful and tough, and girls
are soft and sensitive. Such statements
strengthen_

g VRISl 3R e dd § e
a-sﬁm T iR gaeAvher et €1 3w e &
......... I FETET I B

(a) Gender equality/SiET FHAT
(b) Gender equity/SieX FwdT
(c) Gender empowerment/@%'{ ENIEU]
(d) Gender stereotypes/Sigt &fgaradm
(d) @TS% ogd URHUH 3 FIR &d ¢ adl
Wwaﬁ%@aﬁﬁ%ww%aw@
Wl #1 geE 29 81 Set Sfedia e RN
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I e afghy ot =R @ deffa s @ S
fpet =afs foem & forw sweh Sifew fofm & amER W
T SR IUg AT ST @1 Si9- feensd § gwem
3T A ¢ R IAH FEER WA, WA A Al 3R
iR e e e o2 B e e L S e
ST W sl @ At A S 2

13.

Individual differences in preferred learning
styles of children should not be addressed by
weell Al Wigd rm difaat o daftee
furmraetl @t fofe weR @ weita A& fwen
ST =Ty ?

(a) presenting information to them in multiple
ways/3% agfad Tlel ¥ SHHIar I qd Hih
giving them chances to act on information in
multiple ways / 3% gfae Tl § SR
T H B & AT T

providing them opportunities to engage in
work using multiple ways/37% EEE] i ¥
F H IMHA B o AL A

labelling and segregating them in multiple
ways/ 3! IgfaY el | ARSI (SafeAT)
T JUFHBT Flh

Ans : (d) T F wiga e wfed ¥ Safhs
firarell 1 3 agfay ade ¥ Andewr (cEfeT) @
JFHIROT ik Halfd d fpar ST wifew s sud
el H bRl 1 qET S T @ 3 F W
€ wegd & o €, fgd 6 s s wwifew
A 8 I TS e F AT 9w a=d B oIS
TH S &M H IMHA 8 H SR 2 3G adhl §
ITh T SHRIRET FT HL T STH TerareE e
59 fop 9 arefqul siferm o o |

14.

(b)

(©)

(d)

Assessment should be done mainly to

MR T T TET THRUT T &7

(a) induce fear among students for exams./
feranfefarl & wliem % wfer =1 a1 BT

identify their strengths and challenges to
optimise learning/31ferTH Gl STpetdH FH
o Rl 9wt st TR 9 gea
T

Promote and detain students as per their

performance./fanfai & fsaeT &
3% ST FH H AT HTT AT T AT

Assign ranks and classify students in a

hierarchical manner./fo@mfef=i =i goff &1 37

(b)

(©)

(d)

15.  You want to promote critical thinking among

your students. To do so, which of the following
skills should you enhance?

3y o7u faEnfdei § wETereRTeR foeaT St

AT HAT =Ed 21 QT i o forg sy foey

" | foRT sivrelt @t dael s wma?

(a) Convergent thinking/3T I feid

(b) Self-reflection/&-fd-,/ gfafera

(¢c) Rote memorisation/sH3EHTuT

(d) Passive imitation/ffSHa R
Ans : (b) 39 79 faenfdai & gHTe=IHS e @
TIA FE ARG @ Al UW w5 fom e @ -
o/ Sfaera et 1 e FT AR | S
g et § ord aifhes fiem wd Hifers Riaa &1 fawm
g 21 g s T T[T I & ST § 3R
F TS FE F U b F AT § g e F
16. performance of  children

disadvantaged  backgrounds in

indicates that

P A B | I A
sl @ -l e few o d@aha
AT 872
(a) School caters to the needs of all
students/famera goft faanfiai &t sravaesarei
# 3 e A B
Their parents do not understand the
importance of education/3T%h TTT-faer fomem
F e T g T
School is not responsive to needs and
abilities of all children/foamera g+t a=ai =t
HEAYIRASA TH A B G A B
T |
Social environment of child is solely
responsible for child's learning Ea)
TS oRawr s=ai & Ifrm % faw of e
¥ I 2

from
schools

Low

(b)

(c)

(d)

F | [s=al T avISdR ud qrgarsl S efed Te S U

Ans : (c) fommeri ® gfaerdfag gegf 9 o aret s=
& Fr-wda foed g8 Gad od & 6 e 9

Fiifh TA® Tod dl AETIRA TH AT SACHT-3TAT
et 21 3T TH S=dl & HHIEYE & AU 3% Sl T
& STER TdT 34 FA O el abE &
g R s Fuen s o 5 3 9 Teym W a
eyl § WA & |

17. Disability is a result of impaired interaction
between individual and social factors. Which

model of disability supports this view?

et # anffep e | FE F
Ans : (b) 3T FH F T FRUT AT FHI S Herad S o :feRamstt @t afRumy ¥ faemerimar @
S % e il @ wfeEi ofi TR # geEH HI-TT Gl 30 Zfehir et wwed @ 72
HET 8 s e § i & wifd @ & gar (a) Medical/fafedia
AT ST 2| UISHHH 9 gefed faanedf & wfa we (b) Charity/aeierr
ST P STHER THET F, J0I v vy H (¢) Social/GmITTH
1 G T R AR 1 Teher el ST & | (d) Human right/ad SR
CTET Class (1 to 5) 2022 (Exam date 6 Ter{l, 2023 SH-T) 8 YCT



Ans : (c) i Jafes 3R qEIHE RS & o=
iferd 37 fopanedl o1 qRomy @1 ket S wHTE
EE T g & Wl 3@ 81 fEer ey
SR qo1 qatawofa areredi @ 8, St =Afs # gu §
T AN F Y TF A YR T 3! quf 3R ot
el ¥ ekt 81 fasber sfufm 1995 % IR
26 ¥ famam o=t # 18 T H Y TH qH 3R
Aferard fver 1 SRIFR I 2

In order to ensure successful inclusion of
students with hearing impairment, a teacher
should

ST AT ST ferenfofat o |ohel AT

g &1 & U sreamms = = &
=fe?

(a) extensively use lecture method for presenting

information, ES FH F fow ===
fafer 1 stferera &9 & WA

(b) use oral tests for assessment of
learning/31*MM % @Ho= & fow Hifas
Tterull BT T

(c) restrict the use of sign language in class/h&ll
H ichfereh WTST o SANT b fome |

(d) ensure that oral communication is

supplemented with visual representation/Jg

g w5 difes 9o gvaes
TEIAHT & W IR &

Ans : (d) S ST aTel ol & 9%a 9aEve &

%&fﬁﬁ?@%m@wﬁﬁ%ﬁﬁﬁﬁwmﬁs

O YA TR § WY 9Rd @ i

0T YT AAD AT 5 B H g W B W W A

99 H GT oUW H B egH W g I guAd

& BN I F U & AR

OO G H 3T B & HUT 3% GHIEATH § arer I
T | a8 3 ferm waifad gl

19.  Students with giftedness are likely to
weet o fohd T Sl HHTEAT
¥?

(a) lack intuitive understanding of the basics/3TH
T I Y e GUE H 379 Al 2

(b) respond much slower than their peers/3T9-
TEaIfedl @ qa # Hr i | gffw
T &

¢) withdraw very quickly if task is challenging/

()gé ygﬂ%’yﬁwwﬁwg@%

(d) show eagerness to find solutions/HHTE

g & ¥ g1 S A 8
Ans : (d) A/ ST T 8 gUeE @ee &
T K B F GWEAT 1 THA F SFTHR- Traremeh
A% 98 ¢ et gfg dfw 140 ¥ s @ ?17

ATl STefeh 3T GoIIcTsh &THAT a1 B 8, 98 3Td
T§ GHAEATES fHad sid @ 91 M, faeE S9 sed
el % @RT qHTHH GieH & T 9% YI & gl

20.

Which of the following provision will cause
challenges to a student having Attention Deficit
Hyperactivity Disorder?

frafafeas & @ ®E-w0 gEuE 3RvE
ShrfTe Treuifeefadt femdt’ aret foameff &
o gl wega swam?

(a) Access to assistive technology for written
assignments/feifiad s Elv'l'gffg% fau weEs
ST % g UE

(b) Stimulating a range of senses/faf¥= Tag
SERCH

(c) Breaking assignments into small and
manageable chunks/Sad Be-BIS
T TRl H FET BT

(d) Lecturing for long duration without

an
breaks/foT fordt SFawer & e 343@[5!'%
A

Ans : (d) fomT foredt sforer & et 37afyr atel SR H

forenef % foTw 9HRR YT FTW ADHD W& F@ud §

& a1 8 NS¢l 3W o T @ bl § g9 9q@

eyoT Foret B

o o1 TI- U Siegarsll § S LTI

o W WY ¥ Td W S Rufy fed &= o #

Hiearg, fa-afsraar &1 gl

o I @ )

o = H FHT|

21.  Assertion (A) :

A teacher should encourage students to

collaborate, do group work and actively

participate in cooperative learning.

Reason (R):

Learning is a social activity and students

construct knowledge collectively.

Choose the correct option.

MURAT (A):

eI kU faemfdel W wesNTeHSR

S ¥ WA &, WUE @ e 3R

AR w0 A 9T & & I Wreanfed e

=R

e (R) :

STfrTy wek |rETTeR Tiafaftn € ofiw ferenmfofan

T WfEh Y W/ G HEAT AN

&t faere g

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)./ (A) 3R R) EEl
T & 3N (R), (A) B L AT BT B

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)./ (A) 3R R) EEl
T € Al (R), (A) 31 T = 78 21
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() (A) is true but (R) is false/(A) &l & W
(R) Terd B
(d) Both (A) and (R) are false/(A) R (R) el
T &1
Ans : (a) 3TAUS H 0 fFenii H HEATHS
A § GeA B, TYE B W R ufhd €9 9§
IT A9 F AU Seqfed w1 =feu) e SR U
gt fafafy 8 o feenfefa ® ¥ IE
oM BT AIRT| HedrmeTs e § aresh § e
# wafa § gfg et ¢ aur foenfiai & 9Hfes w9 9
fean T I o WHE a6 @Rl a0 @l 213 (A)
3 (R) a1 W&t € 3R (R), (A) I T AT Ll & |
22.  Which of the following method of teaching-

learning does not value active role of students
in knowledge construction?

freror-atfinme &t o § | - fafa w=

& goa # frenfefat ot wishar it =t wewa

& oot 37

(a) Behaviour conditioning/sIe@ 3TJehet

(b) Peer collaboration/FgUr3! FEHIRTAT

(¢) Discovery learning /31907 STRATH

(d) Reciprocal teaching/qeaRe f3refor
Ans : (a) Rmeqor s1ferm & ‘SERR stger fafy 9 &
o | fomfiai st aftear aftenr it 7o T f 2
W%Wﬁﬁmfﬁaﬁm{ﬁwﬁ%ﬁaﬁ%
Fifes g7 A Al § a=d s # fawk| w1

25.

In what ways should alternative conceptions
carried by students be addressed by the
teacher?

frenfifil g Ufew dwfousws  Sraumumd
ARl T fRE YR Halllera st =T
=te?

(a) Alternative conceptions should be ignored
without any discussion STFYROTAT
i Tt fohu fomr eeE #t S AR
Students should not be allowed to share any
alternative conceptionsfﬁﬁﬂf@fﬁ 1 B o
TER F dHfCqR SEERUIE W B FH
S e 2 R

Students should be encouraged to share their
ideas and these should be discussed

thoroughly I A =R T FH
F foau Mefed B AT 3R 34 W FHI
g =t HE =Ry

Students should be punished for carrying
alternative conceptions.

guNoTS W femR #1 & fiu qvs fiemr
TR
Ans : (c) faanfat g e defeus sEumomd gaifea
FH & foru el g faafiel & eraa faem w@rEn
FH & T Teqied ST TfeT ) 54 W GHIar § ==t
FE Tl g & el & S5« ot =& & fou
TS g Aicdied fierdr 21 @ fomnfiat # amer faamg

(b)

(©)

(d)

fifehen gfepior & g od & | 1 fobrg i 21
23.  Students learn better and égfectively by a 26. W:ﬁ.Ch. of ttl'le tfollgwing is an example of
Terameff fererer gRT SEaw T extrinsic motivation?
dra ¥? freafafea & 9 @®F-wr o iR @
3ETEIT &7
(a) Passive imitation/MSha FHT0T % ) o .
(b) Rewards and Punishments/q%&hR 3 308 (a) ;gr%l;ng to satisfy curiosity/ ST H1 TqE
(¢) Inquiry and discovery/fmar 3 3r=awoy e
(d) Rote memorisation/ FeEfaHTT (b) Learning to improve understanding/¥H=l Bl
Ans : () fEndl fmEn efR swemor g dER SR E,m%f.w . )
quEeTel 0% § Sem §1 it s &y § se (c) gearmng to win a cash prize/dhs TIEHR
THa 2R T F WIS BT 7, TS s wfEar fere. st ‘
RO GRS ST &dT g (d) Learning to master a skil/fpgi e #
24.  Which of the following hinders development of LRI F F form 2
problem-solving skills among students? Ans : () THE TEHR TH & fou siferm A sfsrom
= ﬁ ke aﬁﬁ-wﬁmﬁiﬁr o HEEAT-THTE | |57 3e 2 |
et o foehma o anere €7 Te % IFER- “IRmen Rl s @9 &, Sl
(2) Analogical thinking/3T&d i T agn B S & AR 81 SIRERT & SR
(b) Functional fixedness/Sehraics e o B—
(c) Representation of problem in multiple ways | |1 31iaftes AREROT 2. =T AfsROT
@ Fagaazfailﬁwﬁ?m@ i HARF BT eI MHEN B W, A
ocus on relevant information ITARY Y TEvaHAT
SR el iga:” TEl ARV % 3T — TR, TR, SR &2
Ans : (b) YhES feRa il & gowr-game - - - —
T 5 P e et 3 27. Saima attributes her failure to lack of ability
ST N T and considers ability as fixed. Experiencing
AT T qedl & I, s Remar Tu Al § EU}' repeated failure will lead to the development of
SUHOT T ITAT FT F A Pl STTeF B A L in her.
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HTIUT 3Tt STEHEAT o foTu et o st =

STRETET 3edl € X Iraar A T feR '

W T AT §| TR-TR JAEHAATST T g

IAY fhT YehTT St TEHT ohT fereRTd simT?

(a) Curiosity /frRmET

(b) Learned helplessness /3T9g=l &1 Hi@n g3

g

(©) Pride /T8

(d) Hope /31=M
Ans : (b) ITFHT STTH TG & I e § FH i
ITEE Seldl 8 N AvEar $ UH Rew &G &A@
AT 81 SRR STABAAdIS B BT STH - TR
diar gan a1 fawe FOM STEEEar H g gan
9/ (Learned helplessness) T HAIGweh =woT Rorad
TS b TS FRH & BT 3 Rafed F ToRar § et
@ FE FH H oS FT § A1 9% HiEw N HEgH
wé%%%wmmqﬁﬁaﬁﬁwﬁﬁ
smd @ ofit gufey 98 3 wwensl & AR # o of
FH A HEAT T HL & 2

Fead % SEN:- “FAH I 3R A sffrne H e
F i uisear, de i 217
SARAT I YT S ATl 3 SRR FRE [ o—

o TgH # e * Jfg &R

° B ® ey

o qRyeadr o HHfYS @y
30. Learning is negatively influenced by

AT fohEeh gRT TN ®0 | FoTfae
BT 37

(a) scaffolding provided by teacher/3TEaUHT R
EER RIS

feeling of hopelessness/fUeT &I ATEAT
print-rich environment in school/fa@Terd
qfsd-wg4 gia

individualised instructions as per students
needs/ fomnffal & & SR Jafhs &9 9

feu ® SFgavH

(b)
(©)

(d)

28.  You want your students to remember certain | |[Ans : (b) FRIST 58 AT & S e & e § sE ®
information. For this purpose, which of the | |qgrmers wv@ Te@r g1 FAUET =5 9%emr & 3HE
? . !
g(#g)wmg strategy should be %Med Q3 Eg e é, Rl % oEl @ TR
HIETT | mmm.wa’éﬁmﬁ%ss A aﬁ.
w&sﬁm% 3;13%«9“ fer, Fd § RrEd 9 e § srest yevi 98 UM 2
(a) Asking them to passively recite the same Mathematics/’l’[‘fﬁ]’ﬁ‘
many times/3d fafha &7 ¥ & R
TeT % for e 1. E+zisequalt0
(b) Making connections w1th their reV10us 7 2
knowledge [3h ?f IH § TS 2 7
(c) Giving opportunities to apply knowledge to 7+EW%
real-life problems./I i St &t st
gEs § AN # & FaE 3 (a) 1 by =
(d) Providing examplars and non-examplars for 14
that concept./39 3TGYRUN %@ EESU ©) 3_ d) 55
IRA0T T B | 14
Ans : (a) 39 3794 faenffel & 8 SHSER a2 HE 2.7
Wﬁ%lwﬁw%fw,mﬁ fferr = & fpeh| | [AnS (O o
A2 & B I AU & [T Fed d aa:nzrr%m 4+49
foredl dem & f4f%pa &7 ¥ SR-aR dewd (07,2H AT = 14}
w@ﬁéw%m:mmww% 14
W%WWWH@@W@@W 53
fh 9% 3% ST § A & S| "1
29.  Which of the following factor is personal factor 11
which influences learning? -3
WIA-TT TR heh & ST 14

ARATH SRt goTferd i &7

(a) School climate/&heit LI

(b) Heredity/3T 316k

(c) Cultural context/qiEhfas dast

(d) Teacher's pedagogy/3TEATUehI &1 FEATIE
Ans : (b) wgar@m KT FRF & o ArH H
Wﬁﬁém 21 “SAfrm sHeRR # AU FIHeA H ThH
gfshan 81”7

2. Which of the following represents descending
order arrangement of the numbers?

frrafafaa & @ forad g ereddt &w o
aferd §7

(a) 20.2,2.20,2.022,2.02, 2.002, 0.222

(b) 20.2,2.20,2.02,2.022,2.002, 0.222

(c) 20.2,2.02,2.022,2.20,2.002, 0.222

(d) 2.02,2.002,2.20,2.022,20.2, 0.222
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Ans : (a) 30 - @ TS H g G T B
T 1 3N Ted 9 § foed 8, 99 59 37ee! &9 Hed
g
faedl 4 Wy 2 & fAwey (a) 31908 &9 ¥ o-
=20.2>2.20>2.022>2.02 >2.002 > 0.222

3. Difference between the least common multiple
of 4, 5 and 6 and the least common multiple of
5,6 and 10 is:

4,5 3 6 & TAW Bl WE U 3R 5, 6

3R 10 & WaH DI |iE U § 3T &:
(a) 30 (b) 60
(c) 15 (d) 45

Ans : (a) 4, 5 3R 6 F T BT TP (L.C.M) =
60

5,6 31X 10 T ¥4 BT AU (L.C.M) = 30

Y 3= =60 — 30 = 30

g BT AN F 374 — 8 DI T BT wE@ S
& TR sl ¥ qU-gu e & S 8 |

4. The difference between the smallest 5-digit
number and the greatest 3-digit number is:

5-3Tehl aTelt ol Bt &1 3T 3 -37eh! arett

Y St GEAT T 3T &

(a) 90001 (b) 901

(¢) 9001 (d) 9000
Ans: (c) 5 3l arell 9o BT §=AT = 10000
3 3feh! aTell o Sl W= = 999

fiE =R — 10000
-999

9001

5. What should be added to the sum of 7077, 7707
and 7007 to obtain 27777?

27777 T &I ok fW 7077, 7707 3T 7007

TR B =T |ISAT B2
(a) 7777 (b) 5986
(c) 5968 (d) 5698

Ans : (b) WHT (7077 + 7707 + 7007 ) § T x SheA
W AT 27777 W A

7077 + 7707 + 7007 + x =27777

21791 +x=27777

x=27777-21791

x = 5986
6. In a school, there are 320 students, out of
which one-fourth are girls and the rest are
boys. Two-third of the number of boys are
players. The number of boys who are not
players is:
Tereft feremerar ®, 320 feameff €, fd @ -
=iteard ergfrat € iR 9w @geh &1 wgdt @t
T i 3-foerd Raerdt #1 < fgerdt ¢,
I TIgehi ol T &
(a) 80
(c) 40

(b) 160
(d 90

Ans : (a) foome & Fa fomfla & @eam =320
o feranfefell W § wh weré ergfena @

. ) 1
ASiRal o H=AT = 320 x — =
4
TSH! I @A = 320 — 80 = 240
. 2
S ofes Raarel 8, 399 €& = 240 x — = 80x2 =160
3

a: S Raers) 98 8, 37 ool H FE& = 240-160=80

7. A taxi meter shows charges of ¥40 for the first
two km of journey and %15 for every
subsequent km travelled. Mohan pays ¥190 as
fare to travel from his house to his office. How
far is his office from his house?

Teh Sordft 1 Hiex uger 2 femtlt. &t am & fou
T40 T WTST To@Tar & 3R 3Weh @ne wfer fedt.
AT & AT T15 1 et fogaTar €)1 uea |
U T W 3UA IMRE il AT o e 3190
fortran feam SEeh TR ¥ Sk AffRd & gl
fepart 82
(a) 12km (b) 13 km
(¢) 14km (d) 10 km
Ans : (a) 2 km 1 I & foIw srer =T 40
T I % AT 7= T = 190 — 40 =T150
1 km & 2 & forw amgt =315

Z15H S & = 1 km

80

. 1
S Z150H @M = — x150=10 km
15
T Higd & R Y AfRT g =10+2=12km

8. A bucket is %th filled with water. Another 15

L of water is needed to fill the bucket to its
brim. What is the capacity of the bucket?

@mﬁ%%mﬁvﬁﬁ‘%lmaﬁww

Tt @ o & AT 15 wfer urr @t eiR
HTAIAHAT gl ATl cht LTRAT = &7

(a) 21L (b) 14L

(c) 28L (d 7L

Ans:(a)mﬁﬁﬁqﬁﬁﬁﬂm—% qnT

@TE/ﬂ‘ﬂFTZl—EZE
77

% qNT gl 9 % T 3avas gl @ gEr = 15 L

37: wﬁaﬁfaﬁaﬁmﬁm—wx%—zu

9. A train started from station A at 17:40 and
reached station B at 22:15 on the same day.
The time taken by the train for the journey is
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Th ITTEr RIF A ¥ 17:40 o wrerelt & e
RYE B W SHT fa 22:15 o Ugerdt &)1 Jewmet
BRI AT § oW W9 ¥

(a) 2 hours 35 minutes/2 5 35 e

(b) 3 hours 35 minutes/3 2 35 e

(¢) 4 hours 35 minutes/4 52 35 fie

(d) 5 hours 35 minutes/5 %2 35 fam e

Ans : (¢) {TME & ©IF A 9 T & 999 = 17:40

PM

IAME F RIA B W TEA F T = 22:15 PM

TS B AR W A WA = 22:15 — 17:40
=4:35fte a1 4 %2 35 fime

A 90 cm long wire is bent to form a rectangle.

If the width of this rectangle is 15 cm, what is
its area?

Teh 90 Y. Tt Al Wt Teh 3T AT

wy fean wom afe smea i e 15 At §

AT SHRT SR =T &2

(a) 300 cm’

(c) 240 cm’
Ans:(b)ﬁREthWTSc:%cm
ARl WSH AT a9 W, 3TFd T IRA

2(1+b)=90 cm
2(1+15) =90 cm (& 8, =teE (b) = 150)

10.

(b) 450 cm®
(d) 480 cm’

21+30=90
21=60
L=30
3T ST H &FTHA =1 x b
=30x15
=450 cm’
11. The number of degrees in four and two-third
right-angles is how much more than 395?
=R 3w Y-fererd wweRivit o fefire =t d@en
395 ¥ feRart 3Tfereh 272
(a) 35 (b) 40
(c) 20 (d) 25
Ans: (d) ¥R 3R & foerE wepion & el &t g
= (4 + zj x90
3
= 14 x90
3
= 14 x 30
=420
3 3fTE HE&A =420 - 395 =25
12. Identify the shape with the following
properties:
T Tunt et steRfa it wgee witwT:

(1) Ithas 4 sides. /39! 4 qoTC |

(2) Itisa closed figure./58 T a% MHA &1

(3) It has opposite sides parallel and equal /3G
g e SR SR HHie |

(4) All its angles are of 90°.

zgh Tt o1 90° % 21
Rectangle only/%?f Hrad
Square only/%?oﬂ it

Rectangle or Square/3™d AT it

Rhombus only/&ac BEEGE |

(a)
(b)
(©)
(d)

ns : (c)axra?raﬁtaﬁ%w:-
(1) S 4 o Bt &
(2) ¥ TF % P &)
(3) T TR YIC e SR T Bt 2|
(4) T Tt F0T 90° F B T
13.

Following are the marks obtained by 25
students in Mathematics:

25 feremfii=n gwr WvTe ® yrwies e faw T §:
16,36,45,47,30,22,34,35,39,40,37,28,47,31,33,
38,42,44,49,39,27,40,35,43,33

How many students obtained marks between
32 and 42?

32 3R 42 & oo 3ie e o arelt ferenfedat
&t e fehat R

(a) 11 (b) 12

(c) 13 (d) 14

ns : (b) 25 foEnfefat & o & & TR A H fora
T3,
16, 22, 27, 28, 30, 31, 33, 33, 34, 35, 35, 36, 37, 38, 39,
39, 40, 40, 42, 43, 44, 45, 47, 47, 49

2 342 & o= 3 qd S At famrelf = 33, 33, 34,
35, 35, 36, 37, 38, 39, 39, 40, 40 = 12

14. The following table shows the number of
computers sold by a dealer in s1x days
ﬁ e T

T aferert weR fershar grT
HIETE At G o yaiia 'él'T{HT &
No.of computers sold
/ 99 M FRRT B AT
28
25
37
23

Day/ &=

Monday / SFER
Tuesday / HTedR
Wednesday / geaR

Thursday / ggeafaar
Friday / g[par 38
Saturday / oifFaR 25

The difference between the total number of

computers sold by the dealer on Monday,

Wednesday and Saturday and the total number

of computers sold on Tuesday, Thursday and

Friday is

HHER, FUAR HT e w0l fashar grr s
T HESH wH HA TE AqAT HAAR,

Wﬁwaﬁéﬁmmﬁaﬁ

H HEAT | IH R
@ 3 (b) 4
(c) 5 (d 6
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Ans: (b)

HIMaR, JEER R THER Hi &kt 517 99 T Heed
S HoT F@AT =28 + 37 +25=90

TAaR Jeefar 3R YFHaR i &kl g o9 e
Fr N F GG =25 +23+38=86

3a: Y IR =90 — 86 = 4

15.  Observe the following pattern
e et o
1=1
3+5=8
7+9+11=27
13+15+17+19=64
What will be the number on the right hand side
in the next row?
Tt Uit o 8 uer § e o gieit?
(a) 81 (b) 100
(c) 125 (d) 216
ns:(c)ﬁﬁ&’ﬂﬂﬂ?ﬁaﬂ
1=1
3+5=8
7+9+11=27
13+15+17+19=64
21 +23+25+27+29=125
dAie- Sk Jed & shuer fave demsdt & A yefvia |
W 7 991 oTTell Ufth § g W A el famm dwen
T 3& fobam o @ 2
vgelt ek ® U fasw e a6 A
ol U # @ v fawe dem & A
ol 9fk F i shamTe faem e @ A
et dfth ¥ AR Huv fawm g 1 A
giedt dfeh § 9 ShAMG favm g & 9
16. According to the National Curriculum

Framework, 2005, one of the major systematic

problems in teaching-learning of mathematics

is that of compartmentalization. What does it

imply?

T UeTeEt €@, 2005 & JIIER, T

o Tgror-srfirme ¥ g sxawemTa uened §

T Th ¢ RITHUT (hURHSATZSI )| T =T

gTiar &2

(a) There is systematic division of students in
different sections in the same class on the
basis of their abilities.

3T AT/ TR & SHR W T Th &
Fer & foenfal w fafe @vel (Fewrm) d
AR &9 § 9 71

There is little systematic communication
between primary school and high school

(b)

(d) There is a systematic division of the school
and college curriculum for mathematics.

T forerd S HiesT & T & Jieasmd |
srafed &9 § 9 71

Ans : (b) FICHSAZSIH T T 07 ¢ o foemmg &t
Y ¥ g9 & fAU AW AHe 9 ¥ wER o
e, el a1 STquEt 1 FeRT B ¥ UL et
FR@L, 2005 & IR, M@ & for sfrm g
FaEa  gmEnst § ¥ uw @ difeem
(U HEATESRH) | Ig Tafis e 3R e & fm

fmerebl & e 9gT & HY AR Y B AT 2|

17. Which of the following statements is most

appropriate for standardized tests in

mathematics?

) HE-AT wOF @ o
aHegRa Tdemstt (2ew) & fau waifus
SUITH 7
(a) The subjectivity of these tests make them

contextual. /37 THemaT (é?&?) F Afehiradr
3% Tewlers ST 2|
These tests can be administered on small
populations only/3 TOeT3T (S=H) & FHad
FT S T & TR H T
They are highly biased
3 g S ®9 § geurd @ g
They do n a%lve an overall plcture of child's
ability/ o ! &HAT 1 G o T
T £

(b)

(©)
(d)

Ans : (d) U A G001, qHe0T &1 1T 4 98 &9
o meft gRenfefel &t g9 e & S 3 & faw, &
W%@W%@Wwwmﬁméaﬁi
“HH” 1 GETE T% § @R A S 8, S sfe
BE AT BAI % WE W NG YA H qA FHA G
W%?}a—nﬁﬁwwwﬁa T w2
agmmnﬁmﬁwmsﬁ%maﬁ(éw)%m

Halfers ST &

18. A child performs the subtraction and addition

problems in the following way:

Teh ool a9 3R e & oA faefaied
YehT A LA

6-3=4

6+4=10

2+7=9

9-7=3

Which of the following concepts are being
incorrectly applied by the child in the above
situations?

uRfterferat ®, sreen frefefaa & &
foRT sTaamUTIs W T ek @ SAIIENT

teachers of mathematics. w2
?ET& ?T% - & a;j—( Wﬁ«ﬂﬁi g—cﬂj 3 (a) Place value/®IHra A1
. & ) . (b) Proportionality/m
(c) There is a systematic appointment of teachers )
at different levels for the school system. (c) Counting backward/Te=THl/qee el HTA1
gl wpel FEe & fou gemefed €9 9 (d) Numerals and sense of the numbers
fafer =)l W ferersnt &t Fgfe & 2 g s GEsi & Ay
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ns: (c) =9 SR AT ST S 1 A(HaT g1

6-3=4

6+4=10

2+7=9

9-7=3
79 o= g Tl STaERT G agfeEd S 9 2
T/ IR T - 9g A e @ g @ O
fiem o<t " & 9 B dEm A 4w # I fiEe
ST
- 6-2=4,9-6=3

(c) Teacher teaching mathematics in a
playground. /f¥mefen/fRferent T & Hem o
Tifore a1 fveor S @/ 2

(d) Teaching children to play video games as
these enhance mathematical thinking.
el @ Afed T @o e, w6 9
wforditer feie @ aerer 2 §

(b) T TR W T fomeqor 37 TRTE A &

3@%1%T@ﬁiaaﬂsaawaaﬁﬁ1ﬁmhxaamwmﬁ

wRferdt 3t wgﬁﬁrmﬁ,ﬁ?ﬁﬁﬁ%mﬁﬁaﬂ@ﬁm

19. Which of the following is least relevant for !
assessment 1n mathematics? Hd gq ? TR WAl sl WAl %I
’Elilil-'vFlT T § STeRe (1. Ag primary level, a textbook in mathematics
forT T &Y YTEiTE §2 must provide scope for
(a) Check for just separate components of wgfeh WX W, TG i UTedUEe W
mathematical proficiency rather than its SAfamlar ¥ Ug TaET ST i Ry
Vaﬁlu?ed aspect;a % T (a) integrating many cgm%lex concepts in il:#gle
& . i question./Tsh T4 Sffeel 7AYo
IS IHeh HEeaqUl/ oA TSN & | S e
(b) Measure what is 1mportant no?}_éust what ls (b) a lot of exercises for practice./3I¥H % forw
easy to measqre S
H@éﬁwﬁﬁwﬂaﬁ| T o
(c) Open-ended questions are also important in (c) contextual problems in mathematics.
assessing mathematical understanding Gayicsh THEAE |
T H%ET;% e H gol fR aret wee o (d practl%%% the formal algroithms./3No=eh
Hecaqu | held- hl ALY DT
(d) Assessments should provide feedback to the ||Ans : (c) TgfH$ T W UM Hf RICPRIGED T ot
learners and teacher/3Tehel &I forereh Gevlars grerd gFr sifvEr §1 s s=a § i
sifepTaeRdtat s gRgfy sem S =R T 1 o B §
: (a) TIOTC H ST % T 3@%' 22. "National Textbooks with local content and
(1) At T & e § gol R aret 1o agd & flavour". In the light of National Education
a2l Policy, 2020, which of the following
(2) TR oo § e faenffe &1 witm &g & r::;)tresenis‘)/represent the meaning of the given
statement?

T L FRYY (Feed back) Y& 3 |

(3) TR SThe 1 [ /YA He@qUl FfehaTeH
TTAT AT 21 A 5 WA 7

(4) T 2@ & YUH TESH F THA HIAT FMC
I AEAYUl/ TeaH et |

31a: foheq (a) TR % 3Teher H %9 Tl &1

20.

What would be the best example for the use of
mathematical games in teaching of
mathematics at the primary stage?

T X T oTerur 3 T @t R

IR ST HH-TT T 37T ISTENT EN?

(a) Children are given some toys showing
numbers and are allowed to play freely.
Fedl H HE/dE 9 g T
W WeH i STAfd

Teacher including mathematical puzzles and
mathematical games using materials like
shapes, pebbles, sticks in everyday lessons to
build concepts./STTHETST

frerer/ ey wfafes @ wre-aemn & wftrd
wRferdt 3k srpfaat, geri, <fedl Sia gmbEt
F IYAN FA gC T Bl B G
B/ F R

(b)

v fawa-aeg A g % Wy U
uregEeh |’ et Rrem i, 2020 & Sew
#, frfafas ® 9 sE-a1/9 U T wew &
ared st ffua T/ €722

(1) Teachers should ask only oral questions in
local language of children./f¥1er & el
T A § hee Hifges T @ g T
All school textbooks should be translated in
Hindi language./S4t %T’ﬁ ‘TIB’?IW EANESS)
A H AR A ST ARy

Textbooks to be prepared in a way that is best
suited to needs of the students and
communities. [ 39 TE °

F AT S 5l oR e &
ST & AT &l

Textbooks shall contain desired nuances and
supplementary material as per local'cor.ltexts
and needs./

SIS b SFTHR affed aifwal 3N T
Tl @ Wt S e

Choose the correct option

wE fased &1 o= ity

2

3)

“
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(@) (1)and(2)/(1) 3R (2)
(b) Only (4) /Haa (4)
(c) (2)and (3)/(2) 3R (3)
(d) (3)and (4) A(3) 3R (4)
Ans : (d) ‘TR e iR oTER & @Y UL
g | UgE fwn AifT 2020 & e § f o &
forefi e §
(1) UIST TW H TH WE Y TAR BT AR S B
ferenfofat ofit Twamel & savawdeT & qara® &
(2) TAYETH H T Hew R sTavasdis &
SR Fifed arifed SR e arelt B e s
gl
A class V student, when asked to convert
3 7 15
10°10°10
numbers, writes them as:
3 7
313,17, B2
10 10 10

Which is the best explanation of his/her
misconception?

wmeT V & s foeneff & 5@ fsit S
3 715,Wﬁaﬁwﬁ@nﬁﬁwﬁ

10°10°10
& oI w1 ST §, O 9
3 7 15

—=13,—=17,—=25
10 10 10

Tor@aT €1 37 TTera AR & A Ted 3resT
TASTRITT S0 & hIHA-|T B2

(a) He/she has a careless attitude
class./F&T § 3TH ARAR W4T 8|
He/she is adding numerator and denominator
and placing the decimal in the middle of two
digits of the number thus obtained./d8 ¥
3N T H ISH IWmAd F G T F &
It & Fista A @YW 2

he/she is wusing different kind of a
mathematical algorithm/a8 Teh 3TelT JHR hl
TioTde sher-fafr s ST @)@
He/she is scared of mathematics hence doing
this mistake/ag T ¥ ST g/GE ¢ o Te

I | @ 2
ns: (b) H&N V o U feandf s Rl S|
3 7 15

10710710
ECIM i=13 7

10 10
IFYRUT F T o9 31T WIS U8 & f% o ofy
3N & I SR YA HI T G&T & o H &
A=t = o @R

23.

fractions like —,etc. into decimal

in the

(b)

(c)

(d)

FI IIAA G § 9EAd & O 39 TER

15
=1.7,—=25 9 T
10

24.  Which among the following is the most

approprlate method for explaining, "A
remainder is always less than the divisor", to
primary grade students?/'Teh
TG WIweR @ wA Far ¥, wafiew ok
faenfofat = g WUz & fou, foafafaa o
[ F-wt yurrett/ferfir watfren suges €7
(a) Use manipulatives like pebbles, balls, tokens
etc. as dividends to be grouped equally in
different ways and let the students establish
the required relationship.

et S Shepel, Tal, Al s
F ITAM WA F & H R e fafE
T T SR el § i iR fymnfE &
gifeq day wfia F
Give only two digit division problems based
on getting different remainders.

STET-3TEHT Il e T STeia fars &

Had I FPT gHET F |

Solve one or two division problems on

blackboard and show the required

relationship./TIMIg W Teh AT a

TeAt B B SN Fifed Few qwd |

Use multiplication and addition to prove the

relationship/gae & TG FW & foaw oM

TE I FH ITAT B

(a) “TH I/ ATHA FAE WINEH G FH el B

F fonffll & o e % fou weifus

e 2 % swsivel qmd S sehel, T,

F ITAT g & &Y H B S e

i%tm gt | afe R fenfda i aifed dew
EL

16T B 8 el H SER W G § aed W

AT QY Sl e S g0 SR 8 H SR A He

i M T

(©)

(d)

4]
TEEE

5359354

6+6+6+6+6+6+6+6=48
3T =51 -48 =33
8 I=al H 6 THM ZIhd &4 & a1E T 3 Ik o
S ST F FAAT 3 T I WIS F 9 BT & | WA
TSI 8 T3 B
25.

According to Van Hiele's theory of geometric

thinking, which of the following is true about

the basic level of "visualization" present in

children of primary grades"
& wfirdtar feiaa

feia= & fagia & 19N,
WTefieR hell o ooel o ' goieur’ & gﬁtmﬁ
T & EUNUT o o # fa=faiaa o &
HIT-TT T T 87
(a) Children are able to recognize geometrical
shapes by their properties.
e i pfa 1 3k UTEE %
YR W qgEH H T 2 |

At this level, the geometrical thinking is
concerned with deduction of theorems./gH
W W, g e s & e 9
Heiferd 2 21

(b)
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(c) Children are able to recognize geometrical
figures by their appearance and form./a=d

i Sl B 36 wWEy R e
% MER W Jga § T & |

At this level, geometrical thinking is
concerned with definitions of regular

geometrical shapes/38 R T, SAMHAR foid=
T S efadl @ uRwmisi ¥ Hag
B 2

gns: (¢) 3 & 7 SHfir foieq foagra &% 5 R ey
|

(1) Level (0) — FeIH&HUT (Visualisation):- 98 Eic)
fah aeqeil #1 s STHfEl F WEY iR @@ F
YR R Fegsll F Tga- § T5W a9 §1 S TE
TP I IR — BT T

forafhe &t ST i T@H — T FAHT

TS F MHA B I@H — T TqAT

(2) Level 1 fergeror (analysise) T e TR H ECE
T % SER R FEAfeRLoT S uTr § 1 S — e @ R
I H 3R BT & B 3T 2 |

(3) Level (2) 3HIT=Re A (Informal deduction) 358
SR A b e e ST T B ST B

(4) Level (3) Fronfiss (formal deduction) $HH =T
TP T g @ &

(5) Level (4) & (rigor) - Y T IO § S
fRfe % SUR T a&qd o1 oAl & |

I a9 8t & A A % fasi % ER wafte
FeTl & Sl § GEAGUT o A TR H STTURIT &
fosr & gt wo §1 % s sanfidia sypfoEl @ S
W&y iR femgmae F MR W Tea § T g § |

26. According to National Education Policy (NEP),
2020, the motivation and empowerment of
teachers is required to ensure the best possible
future for children and nation. To envison this,

it suggests to start opportunities like CPD.CPD
stands for

Y 3 Toull o AY WA WiesT wl g
w1 & fom Wi frem fife (NEP), 2020 &
agar, el @t efmpRum iR S
TIIHeAUT Sl ¥ 30 I /AT ol HHR
& o fau didid (CPD) @ WAl @t

(d)

Ans : (d) TF 3R & o2 G99 9fasy & ghfved & &
fow e foem Aif (NEP) 2020 & oaR fmemnl
ARFTOT 3R 31 Guihshtor sl § 39 g HUT &
WHR A % T (C.P.D) AH— 3FEE{ &I SR foha
=

CPD F 314 § Hi<ge® WhvHa fedauiic o)
HraEias e e S 396 &7 § TaHaq foee &
QI FAC T § A BT 21 391 14 2 fF 9 a9 &
BE % T A Tl U8 TEH W Whd §1 T IR
AT HIT IR TbAIh BT S o erqufy @ 7 S
T ®9 T dgd R 91 H A e

27.

Evaluation helps in diagnosing the
general and specific learning difficulties of
students and planning remedial teaching
accordlngly

Todieh, foenfdat wr @ wd fafvre
IR wieAEA & fEm A oY Swd IgEr
ITert forerr &t AT s # Eql
HETIAT YT 2

(a) Teachers/f¥Teri

(b) Parents/dTar-faar (AyeTaehi)

(¢) Educational authorities/Sifareh i

(d) School Inspector/&het f{ierh (T

(a) g, faenfeai & amr= v faitm st
?m"%_—lﬁ'&ﬁ F e § 3R 39F ER STE frerr S
AT g H el # wer e 2

28.

...............

Which among the following are not the
learning outcomes for class I students as per
the NCERT?

TAHEaE. & TR war 1 & ferenfel=t &
fou frafaflga & @ @F-w1 Tw SRrm
wferher TE &7

(a) Recognizes and writes numbers up to 50

50 T S GERT I YEEEAT N forE

Adds and subtracts numbers up to 20 without
regrouping / & fomr 20 6 #
AR I ST 3R T

Extends the concept of addition to
multiplication /STE S SFHURON T Th
fereamRa e

Recognizes the place value of a digit in a
two-digit number/fHEl -3 T § 3iH
& T 91 H ggEE

(b)

(©)

(d)

RS H H g femmn wa @ WAL | [Ang () NCERT % a1 1% maida 3 sierm
(CPD) &t 31ef 31 & 9HEd B
(a) Central Professional Development (H 1 T 50 9% & G Fi PEEIEE] 3 fora
T2l Mhea feaeie (2) foFT GAEEEIROT 20 A% @ @A ® el #HRK
(b) Core Principle Development ST
R fifua feaaaie (3) frsh d-sidf dem & ofx & @ 79 $ e
(c) Curricular Professional Development (4) Se 1 JFURON H 39 (A, WM, UM, ) e
FRR AheEa fedaie A S S E
(d) Continuous Professional Development 370 NCERT & 3T{8R ®a 1 & faemdf & forw wforfrar
FILIIE MBI fedagie AR gfawa & T fehed (o) I et €
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29. Mr. Joseph, a class V teacher has given an

activity of drawing the picture of a circle and
shading it to represent a fraction.

Which mode of Bruner's theory of learning is
Mr. Joseph using here?

HAT V o Teh eren, oft a3 fsr w6t goria
& foT we g @1 o s 3R S8 Bt
wIA T fepaTeReTa feam
ot e, TR & ARrm fagia & few A
(W ) ohT SUST T&l oY & 87
(a) Abstract/3Td
(b) Iconic/GTHIAT (HTEeHITh)
(¢) Enactive/3TfrsEeia (TAfra)
(d) Symbolic/diefte (fHaifes)
Ans : (b) F&T V & TH Iers of 9w g0 ford &
T % T T g1 & o T SR 36h B 9N FH
BIfhd BT AT Tgf IR % 399 (Iconic) fagma
1 UGN @ &
IR & 31 S (Bruner’s theory of learning)
SR 3 e % i g & §-
(1) ifeeia faf¥r (Enactive mode)
(2) gvIIyar fafr (Iconic mode)
(3) ki fafer (Symbolic mode)
Note — SR & OSHOR &H ¥ 18 HE &
stfree/fraress fafer, 18 ¥ 24 W % gvEWIfUar
fafer qor 7 @ &t oMy ¥ S Wickfaws fafyy
gy ufomn fafer- 59 fafer & aras oot sryfa @t et
T § 3 gv9 AR SR e il §1 59 e §
el TfieRT & e ¥ i |
37 foed (b) ¥ 7
30. Which of the following statements is not true?
f | HI-|T heT T e §?
Shapes can have same perimeter but different
areas./ H A foheq
forsr &1 ebar 21
Shapes can have same area but different
perimeters./ [l RRICERET|
aftarg R & gt 21
More than one figure can have same area.
? § 31fte STl F1 ST FHM &1 Hehal
|
Volume can not be estimated without
knowing the dimensions of a figure.
fordl oTpfa & omami W WM faAr 39
ST 1 TR T T S Hehl B |

Ans: (d) %9 (a) § - T 40 W G 9 TS a7 3N
@WWW% Afehd 39T &% e g

3 T8 FIT T §

b (b) T - FFdl & ofadl F1 &Fwd THN @
Gl © fohed ST URATY UM T & Fehell |

T8 HI T 8

foehed (o) U- ©h § oI Sfadl F eEea guE @
T |

78 %o off 99 £l
ey (d) ¥ - fFelt ompfa & ord, e 3R A
1 T fo1 off 3TH SFTH BT STIAA T AW Fohel ¢ |

(a)

(b)

(©)

(d)

3 TE HI A & |

Fiifs ot Rl rHh B o, deE, S Ak w6
U 2 A B MFRE B Fe b Gebd & S9- 5
&1 afg fyepot T 8 SUH g T X Fohel B
die- fobeg 3T 73U SR fased (d) A E

Environment Studies
eI

Select from the following a group comprising
one state and one union territory of our
country.

frafafaa § & 98 e AT St TR 99 6
T T AR Tw xR wew A frere

AT R
(@)

L
.

Manipur and Jammu and Kashmir
TTR 3R 99 R FTHR

Assam and Odisha/3/ 8 3R ffewm
Uttarakhand and Meghalaya
IAEUE 3 Aol

Telangana and Arunachal Pradesh

T 3T TR 23T
Ans:(a)waﬁﬂaﬁ'{w, Eﬂﬁ%ﬂ%m:
T U9 3R T %5 Yd o9 &1 goa # 9 a9 §
T 28 T 3R 8 F5 W 9§

- FF TWHR T qR TR gacll a7 a0 T &g
o P T &5 W RY WH & I el TR
gaell 3R e 9 (F= wihd Jew i faer) e
2019 T9T 35T T
2. Three coastal states of India are

O & fi7 U qeadt we €

(a) Telangana, Maharashtra, Odisha
Jharkhand, Gujarat, West Bengal
SNEUS, TS, 98 S
Assam, Odisha, Karnataka
3rgH, 3MfEsm, &Hlew
Tripura, Kerala, Andhra Pradesh
g, e, sty wR
Ans : (*)WWW%@T%, Trﬁ?ﬂ??:ﬁiﬁﬂ'ﬁﬁ
g o 21 39 o § St i widl, ufym # ene @R
o afpor § R WermR §1 9Rd % 9 ysdedd Usd §
- ToAM, WY, AN, FAieH, Hd, dHeHs, o1y
w9, e 3k ufem et
Note : 38 537 # &g of fowed a6 1 7@ ¢ s@ferd

(b)
(c)

(d)

(b)

(©)
(d)

T 5 gl T A 3 A §

3. Three neighboring states of Madhya Pradesh
are
T W9 o o Frreheadl Tear &

(a) Gujarat, Maharashtra, Chhattisgarh
TSI, HeNY, Seie

(b) Uttar Pradesh, Rajasthan, Bihar
IR YT, T, R
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(¢) Gujarat, Uttar Pradesh, Telangana
(d) Rajasthan, Jharkhand, Odisha
TSR, FR@UE, e
Ans : (a) 5T YU F MSA | FER 1956 FI g3 A
THSH TH IR & WA § R g9 F RO AW, IST| 7E
TR F T O §1 W R & 5 ger e §-
IR F2V, TORAM, TR, HERIY, BTG |
Fe- veh 9 fafgud ® I # wen & fRadg (5-6
3R 2022) T 81 7.9, § i fhan
4. A student boarded an express train on 29th
November 2022 at Surat for Nagercoil. The
train departed at 20:30 hours and reached
Nagercoil at 13:00 hours on 1st December
2022. If the train covers a distance of 2119

kilometers, the average speed of the train is
approximately

Teh B 29 FaW@R 2022 i GG ¥ THRAEA
WM o w29 o 96 g 39 20:30 9 el
3w 1 feEm@R 2022 & 13:00 I TRAEA
Tget afe 39 37 9 2119 foRetex gt e,
¥ T st 3iraa = g (Feheaw)
(a) 51 km/h/51 et/
(b) 55 km/h/55 TerHT./H.
(¢) 53 km/h/53 fopet./Hi.
(d) 54 km/h/54 Tt /.
Ans : (¢) I §HY (29 F9%R 2022, @) = 20:30 pm
it g9 (1 fegmr 2022, TRHEA) = AT 13:00
pm
29 9% 2022 =20:30 pm — 12:00 am = 3 hrs 30 min
30 99w 2022 = 12:00 am — 12:00 am = 24 hrs
1 f&@®R 2022 = 12:00 am — 13:00 pm = 13 hrs
3 §HF = 40 hrs 30 min (3 hrs + 24 hrs + 13 hrs + 30

, 81
mm):?hrs
29 g0 T g = 2119 feh.d
S gl :2119:2119><2
g 81 81
2
4238

= —— =152.32 kmm/hrs
81

29 1 3fiFd =l = 52.32 ~ 53 kmy/hrs.

5. Your house is located at X and your school is
located at Y and there is a busy highway in
between X and Y. So, in order to reach the
school you first go 200 m in West, then cross a
80 m long subway which is in North in finally
reach your school which is 200 m due East.
With respect to your school your house is

et WX X AT 3nuehT faame™s Y wX frea ¥
qAT X R Y & sfter U S Tt )3
3T 37U e ugen & feTe weer 200 i
ek ufym foom ® Wi €, fRY St s foom o

80 . T I ARt UR WA € i ot #
dteh ud feom ¥ 200 H. T oue oo
g &1 STUk TeraIerar o WIUeT STTeht o §
(a) 480 m exactly North/480 Hi. 3l 3w

(b) 280 m North-West/280 . ItR-9f3H

(c) 80 m exactly North/ 80 HI. Jleh 3™

(d) 80 m exactly South / 80 HI. i aferuT

Ans: (d)
200m (feremera)
80m‘1 lSOm
200m (=)
3q:, 3T foeTer o HTUeT MUl =R ‘80, Itk v
F feo 21

6. Jhoom farming is practised by the people of the
forest on the hills of

o fau T form o o UBTESE o ST | AT

I Wt o iR Y UAT B2

(a) Jharkhand/sR@Us

(b) Mizoram/ s

(c) Assam/3THH

(d) Chhattisgarh/&raTe
Ans : (b) YR % TORR T S49- MW, SwvIEA
TR, ﬁwm%mﬁaﬁs@@ﬁ%aﬁ%ﬁ
A €1 39 faft & STl i i qdT ST it
FIE S € N Bhet 91 S §1 3 WY WS 5 F
& 98 G off 7 S 2
Ae- 9 # A9 wEa F#QE 8, S 39 @R 8- o, @i
3R e |

7. Select from the following a pair of most
common birds found in our country having
excellent sight and can distinctly see things
four times as far as we can.

TUN 9T F T AT AT A WIHT Tl v
& el (Srer) i Rt 1 o A 2
3T I AR g W agei il R AT 3T
T W WY @ T &
(a) Pigeon and Parrot/shdX A At
(b) Crow and Koel/®I3T 3R higed
(c) Vulture and Dove/fiTg 3R Hramr
(d) Kite and Eagle/=ie 3 Tt
Ans : (d) 891 3 H U I e Nfq g ufkeEr o
it R I TY weft § S 3y g9 a8 ok 3
ﬁgﬁﬂﬁaﬁaﬁﬁwﬁmiﬁﬁwé@
|
Are- uftem sma & Ao Raa wwen Jeg e
S T @ g & H 39 & ged g% fafeam m
e feam |

8. Select from the following, a set of two diseases
spread/caused due to mosquitoes.

e N A/ He el & W T WS
TP
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Cholera and Typhoid/%?ﬂ AR foad JER
Cholera and Malaria/2<T 3R AR
(c) Typhoid and Malaria/fHard! LCI B cite

(d) Dengue and Chikungunya/S7 3R faefan

(a)
(b)

Himachal Pradesh/ffam=er s@w1
Assam/379H

(c) Bihar/feRR

(d) Ladakh/<TeRg

(a)
(b)

Ans : (d) T=34 5 BF/%e ard & WM B 9w
3 R ffEr @1 Tt A SR SHeR H# IhRet
(T 312 W{t—ﬂ%ﬂq)éga;ﬁ g FB W W T
T, THIHT BIEARAT, AT STHHAEEH |
dre- a9 2008 H U.S $8 UE g7 TsHAR YA g0 <7
% &% CYD-TDV &1 SwEfeqar (CYD-TDV or
dengvaxia) I for T e, St e |
frames At O AT ggen S @ e o9l

Ans: (a) RU=T TT TSt &7 & ST W &k AR §
e g famn T g7 faer g gm- “gER Fg aw
IgA aIl 8 3R femur off g1 81 @ 3T Sy & o 7
T g9 & o 3781 T 81 TAR T ISR STYEl Ahgl
§ ST S &1 BAR SR % B @re] B 817 e ST
T e 3w 21

dle- 9 §€& HeA BRO g i sted i (femmaa
TRT) A & H TEAAS AR S RIS AR

9. Following scale is printed at one of the corners
of a map of the Union Territory of Delhi:
Scale 1 cm = 960 metres
If on this map the measured distance between
any two places is 39.8 cm, the actual distance
between the two places is approximately

faeett oo &5 & WES % Tk i # A=
e & fam BT §:
YT 1 AfieT = 960 Hiew
afe 3@ Tt W Rl &Y wurell @t At ek
Th 39.8 AR &, A 39 T Tl & S
@t arEfers gt & (feReanw)
(a) 36 kilometres /36 feparieT
(b) 37 kilometres /37 fardiex
(¢) 38 kilometres /38 fhariex
(d) 39 kilometres /39 fardiex
Ans : (c)ﬁ'ﬂT%—
1 cm =960 m (. AHFE T4 W)
T Tl & o= A g =39.8 cm
T AT Tl o o @ adtas
=39.8 x 960 = 38208
a1 1 fFare = 1000 Ho

o AR T = SoaS 38 ) fpciniex a1 (38 Ferh

1000
)
39 YR ST el o ot S arefas gl 38 km 21
10.

A girl from a hilly area gave the following
description of most of the houses of her state:
"At our place it rains heavily and snows as
well. When it is very cold we like to sit in the
sun. Our houses are made of stone or wood.
The roofs of our houses are made sloping".
This state must be

TErEt aF it feRdt @Eer A U T &
AfreRTyT Tl & 9N U ffeiaa fearur fea:
“gAR el aut s gt € X fewura oft e
Bl 9o 3% ek & Wl € d9 g9 W der
TTBT AT 1 TAR O Uead AUaT TIehgl &
AT AT 1 FUR S ki B 2Tl it §17

TE TS BT <MY

Dal Lake is famous tourist place of our
country. In this lake there are houseboats in
which people (visitors) like to live. They also
like to sit in shikara and move the oars.

This lake is located in

=1 3fier TR A A T WG W T T
74 iter # grswsite € f=d o (weesh ) @
TO< W B 9 TR W Seet T e
=Ted #

=g 3iter @ vt o feora & o8 wee

(a) Udaipur/3saqT (b) Jaipur/SIIX

(c) Hyderabad/@sU@E (d) Srinagar /ST

Ans : (d) 3 @, FR e # fed 2, S @R <9

&1 9RFg qded et 21 39 et # gegde @ REd am

;ﬁg)wqwm%ﬁ@mﬁ&mﬂw
|

dle- g & § eEd Afhaeme A dAifed iR & A

g R Ty T @ s w2 i dw

T 3ET fRaT|

12. Mosquitoes often trouble us. Even in the dark

they can find us by the

TeT UTT: TH T ohid &1 3R # oft o g

(a) vibrations of our breath/g9R FiEl & BT

ERU

heat of the exhaled air /99 §RT @ﬁﬁ =i ag

Ealiiic|

smell of exhaled air/3d §RT @@Qf TR EIRN El

R

smell of the sole of our feet and the heat of

%%ody/aﬁ%aaa‘fﬁﬁaaﬁmmﬁIﬁ
|

(b)
(c)
(d)

Ans : (d) F==X I=: & & dodl # 1Y HR gAR IR
T T iR F off gF g o 2, 3R FeH g RuH
H 2| T TH EHRS HiE 8, T8 TR & g7 Tl
arit § g S @1 e fafte bR % I % Stamps &
aTeh BT 2|

Ae- TE dae S I 0T FEiET & SER 2018
o § ST F 1 A T e i A 2019 F 15

dRE ¥ 3% A &St R T § |
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13.  Solve the following riddle :

"T can be powdered fine

To make food hot and spicy

If too much of me is added

I make you gasp, shhee, shee ...
Your eyes and nose begin to water
And you cry

Think and tell me who am I
Tell me quicly, who am I ?"
The solution is

frer f TEh wRelt W g Wit
"Rt STt it STt

A fET Ta et

T e @ W

e @ fremer -t

AT 3K 1w | et urt
T1g feem § At

Tren-wren W E A

o S WA 2

FHRT T §

(a) Turmeric/geal

(b) Clove/@lT

(c) Cardamom/SarEdl

(d) Red Chilli/are fird

Ans : (d) STI% & TR TRelt o fd § weEfe g, F
TH @ F2T d GG S 21 AeE § gge Jam g
IS dRaT o9 ? AR Ife @ § sHE 9Er S a8
S € @ g W awr ofw R e § o faeen
T R

Tie- fafyrn i o =8 e 9 =i ®9 9 “Dalle
Khursani”%qm@ww%ﬁmm@aéﬁ
3N 7R =R &9 4 39 Ao Hohd GI 27 Y8
fomam 21

14.

Consider the following statements about
"Khejadi trees" which are mainly found in the
desert area of Rajasthan:

. This tree can grow without much water.

. This tree is very useful as its bark is used for
making medicines and people like to eat its
fruits.

C. The wood of this tree is readly affected by
insects hence not used as timber.

. Itis not a shady tree.

. Animals in this area like to eat the leaves of this
tree.

The correct statements are
TR o WA 3eToh H G&ad: U S
T ‘B’ ger & fawg # e few T weHt
R foem s
A TH g K IMH & fAu orfes W @t
ST & Beil|

B. I% 98T 9gd SUANf €, 3Hent BT @ qamgAr

w >

=2

C. 39 J&1 i RSl hl it &t Shigr ofT aT &
T AR Tehgl st Wifer Su=r =& e
ST 2

D. 9% BTUER gaT TEl 2

E. 30 &% & WHa 3H gel it Uraal @l @Er
THT A &l
3 W wAT
(a) A,BandC/A,B3RC
(b) B,CandD/B, C3RD
(¢) C,DandE/C,D 3RE
(d) A,BandE/A,B3RE

Ans : (d)W%WWﬁﬂ'@ﬁzwaﬁaﬁ
‘GIE I H IMA & AU 3 T STEvIHA A
A 21 TE &I FE "l H SvAh B, gHH B § adsat
T S §, 3R AN Ik Bl B @ THE Hd & adl
SR g9 98 &1 uRE @ @ T6e & 81 o fased
(d) % 3T=Id B9 A, B 3R E ST 3 2T

15.  Select from the following a state where people

like to eat sea fish cooked in coconut oil.

&

H ¥ 9% US9 gHT W@l o dnT
RIS & o B Uenl/aelt WS Tt @
TEg Y §
(a) Goa/TaT
(b) Telangana/de T
(c) Chhattisgarh/ZETE
(d) Jharkhand/sREUsS

Ans : (a) Tl WA & 9 9 W Req g1 Mar #
AR del I TS w1 SEpar wER S @)
m@%ﬁaﬁquﬁmﬁmﬁm
=ie B

dle- TR 2022 # TEE A foem a9 @ g
Thfasae er@ie 2022 § gafaa fear a2

16.  Teaching of EVS would be more effective if the

teacher

IFIT QT WHTEAIAT R afe
frerw

(a) has command on his/her subject/ fawa #
IR Bry/ERh

tells objectives to students at the beginning of
topic.

forers 3 3w WMo % YR # & @ faw §)
uses various meaningful, illustrative and
relevant learning resources

fafrar srefuut o weegt draw & g &
AT A/ B

gives home assignment after finishing the
topic W FH W W & fau d-dd
I/ 2

(b)

(©)

(d)

Ans : (c) TITEXUT TRI0T 37EF AT SAERIE 2 Ate
RGEREIRE] 3R drgd & e &6
T HAT 21 GHEA b YA Y e wuet 3R
gt 2, fSEd 3El @ T @ T w1 e

ST St € 3 T gk el Sl W1 UHE | @) o e § ARG @ S U S e 9
EaG RS A B H A S|
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17. Why is it essential to integrate Environmental

Studies?

YATERUT LT Y Tehichd ki eht STTAhAT
==t &7

(a) Because a child learns in whole rather than in
parts./Fifh F=d1 Gfed adl & aog dquidr §
I T S T FET 2

Because child can connect his/her
experiences with abstract./Fifsh dedl 3T{rf
S ¥ O I Sig a2

Because child can memorize easily from
'whole'/ i Fear ‘wquifar # @i @
AGH § T bl 21

Because child can easily develop
understanding from parts./3if% T Gied
I B S F TS H Wdh g
T TTaT 21

Ans : (a) TATSROT I T=ai i (4% 3% GRAT T &
Rfed 78 a1 afess I T 3 URAY &k SO
oy F off A9Gd I 1 TR F THPT FA FH
YTl ¢ i sl Wfed ol & =g gyuiar §
Il I ST § TH 8| TR sTeEd e & fe
Fedl & Haw § 3T AT HiET AE0T AR FHEAT ST
YIS 2

18.

(b)

(©)

(d)

Which of the following technique is used in
rating scale?

frafafaa qerfient & & WET Whet § wi=-Ht

Tehwileh AT STINT BT &7

(a) Assignments/ﬁ?f-ﬂa’l’af

(b) Checklist/Sia g2t

(c) Observation/3Tacish

(d) Written questions/faifad g4
Ans : (¢) T A § STADA dbeilh HT ITAN fHA
ST 81 SMgSieh 3 3 QA % IR “Soft Feain
O 97 g At o @ e W avh qeie s
ATl SAfh U i & oiei i oFartyd s g1 W
WA % $Y T A 39 ThN -
(1) g1 forafor ferehrer e et &eel &iem &
(2) T wEE § foriaest i ffa 3 e g @
(3) F2 R fuii &1 o gafey @ g ¢ 5 e
% Goe § I ST I TR et 21
19.

Which of the following is not a tool for
formative assessment of learning in EVS?

frrafeafga & @ ==, T=ieru g o diew

T TIAATHR 3TheTd ahT | & &7

(a) Annual Achievement Test /alfteh 3Icife
e

Ans : (a) FAAAMES MG, URHIGET qdr %A
fefror (X)) Aot gafaRr s § die #1 TS
Ao % T B § SAfug A Suafer aRemr daa
bl {TIAIHSh 3Teheld bl HIEH :r5°r %I
Iuafey e = & AN & fau gedied & ged
ﬂ%ﬁ‘{lﬁ@?%l SyCAsy Gl W whR SR (Ferforen)
& fau ok wleo g fave 9 et
%ﬂ ¥ aarf%ﬁ % o sopw WA 2|
20. in Environment Studies
develops an important skill in students. That
skill is
UERUT Te W WS UgAT Ueh SATa9deh
RIS TRl THiaT &1 o8 vl §
(a) Measuring globe and usmg $0s1tlons of lines
hl HTCFT

FH H HIVA

Drawmg and painting skills

IhY T R AR e

Good communication skills to develop

meaningful skills/E'F[QfC,_[fﬂc BN

IHE HAR

Understandlng place, distance and direction

in relation to each other /¥, gl R femait

% T Rfy 31 TR 3

Ans : (d) TR0 I H OERE el WM, g 3R

feemsti = ary Rafd 1 THEH F1 U EavaS S

fofd 3 81 AARET UF 99 968 W SN T TH

&7 F T 399 T 21 98 g, few ok % aR #

et forei & o FRE SR fga fasaed @1 fRE

T T T w2

T T ARG B 8, S QR e A 36 s 9w

H BT F HE % Th T3 W ST § I T8 e Gobel

g fo qefem B1¢ dam W @ 9 £

qre- gHRE % @9 2w 8- (1) g (2) fwm (3) sl

21. An EVS teacher conducts an experiment
related to 'What floats and what sinks in

water'. Which process skill will be developed in
the student?

e Rrerer ‘o g s o U # 9 dete
Th WANT Rl @Ot ohiar g1 feremffei o
frafafea @ ¥ @F-dt wfkar wer @
ferarme grm?
(a) Observation/3Tacish
(b) Recognition/9gdT-T
(c) Sensitivity towards water/dTT & ufel dergar
(d) Understanding/SHel

: (a) T R ‘1 g 0 AU O & Y el

Reading maps

(b)
(©)

(d)

@wﬁm%ﬁmmaﬁmw%
adl ol EHR HH, HyeTo s, g9 3 A w

(b) Anecdotal records /RS T ﬁ TS TH A7 AUF A AT § Hatvd g1 BEl
(¢) Portfolio/awhiferat T el H Y BT & fIC Al 3R -9
(d) Rating Scale /5 fefeor (¥fm) ot s o S STTES e 1 AR e ¢ |
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22. EVS teaching should encourage process skills,

which are the core of inquiry-based hands-on
learning. Which of the following is not a skill?

TTRUT AT o A  Wiham vt i

WreaTed T Wy St R ywa smenia

iR St @ ge ¥ frefafea § @

I, Tk UTRAT TI9TeT Tat &7

(a) Observing /3TaceH

(b) Inferring/frspd fprerr

(©) Determiningﬁﬂfﬁﬁ AT

(d) Predicting/JaigaH &
Ans : (c) Rl 707 STH-UT & IR F STEAHT
A & IR I el ¥ IHH AT IS B § I
T YT & AH-IH dh e § WA TR F
eI o e § qafgam, s/Easa 9 fshs e
TR HIVEAl PN dEET 3T AR, S B A
T SR # qa @ qor sen fwiRd &,
NERIE NG R
23.

An educational activity for EVS should
gatum. ot ues Foranye feRam shetra g =T
(a) be real-life-based and enjoyable for students
FrEfae Sieq W emeiRa ik frenfat & forg
CIECERED

be of any time duration /fh€t ft FwaTafd
only be teacher-directed in nature

T § e Rree-31ivE |

focus on prescribed content of textbook only
Fad TITEH d & TR Tl WA
Ans : (a) 3909, & UF fIRIVE fRaa arsfas
Ste W emeiia iR fanfdl % fw et @
e Fifeh 78 U TEr foma @ S S B H % e
& fag @ wem ¥ Sied & fou wd fafvs afafafeei &
T e AW FaH FAT 21 AR BE iR ot #
TER SR B ©, S WA IS I el AW
et T B WdT §9 T 794 Tk § FFHROmSi 1 gar
T & T 3 7T el ST |

24.

(b)
(c)

(d)

Arrange the following steps involved in
practising activity-based learning in proper
sequence :

foromereo emenmfRe stRrm & s W
wftnfaa fr=fafaa =R & wd w9 o
HFARAT AT
A. Conducting the activity
TSRETERATT hT HTA
B. Rev1smg/ﬁ%TFlT
C. Planning/EﬁGF-\T CEIEI
D. Reflecting on the process
TehW WY T &
Choose the correct sequence
TE KU T TS T
(a) A-B-C-D () C-A-D-B
(c) C-A-B-D (d D-C-A-B

Ans : (b) fpamspey emenRa siferm & ot § =ROl
&1 eI Safted %A 39 TER ¢-

o IS T

o TRATRATT T HmeH
o shH T fa=R el
o Tl

25.

The premise of the EVS curriculum is

3.tud. Ul T SR 9T §

(a) Constructivist theory/Ta-TamE fgid

(b) Cognitive theory/FHIH® fagid

(c) Social-Constructivist theory
BICINCRCE I CIEREFAL]

Behaviourist learning theory

SHegrare e g

Ans : (c) TATSRUT eATe FReor, SR &1 & SN
e I 21 Tg IS TS A B ST
T 2| TS AR H TH GG 998 b &9 §
TRfed fFer T 8, S Us g o fowmasg @
formfor e & it geAnht &9 % @ geAnt s
I T B GHa 1 o wer 2

26.

(d)

(b)
(c)

Project method in teaching-learning of EVS is
TTHER § iR
a guide and
e ST 2 | e
children are overwhelmed with 'the doing and
(d) it provides an opportunity for work
2
YaH ® 21 A8 W % fau awdfas mesd &
e g e 3T 3R e fAff aafeRr #

useful because .
getum. & e ofrm ¥ wIISET WeRw
(a) it enables a teacher to be
facilitator /a8 T @ TH
it requires a variety of resources /58 fafay
Tt # sTavEsar g 2|
the action' part of project /A= JTATSHT o
ATl AT SR 35 % 9§ AR 8 S 8
experience and divergent thinking /I8
FHEE Td A T & SEw &= &
Ans : (d) $HTH. & ooy S # wrESET weRw
A ¢ s a7 FrEHT Td AR A F e
A F@ § S oS B oS F U us e
Yo B §1 EATE. e gmeR SR ewEE %
T B b § 3R 3T T THhd ¢ |
27.

Arrange the steps involved in problem-solving
in correct sequence:

TaEn gute # witafaa/fafea oxon s wd
T T YT it
A. Define the problem

HUET Rl YR S

B. Discuss possible strategy for action

Toha o TTQ HwTia ST OR e Shifteg
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C. Evaluate the result
TRUTH &1 Yedieh ity
D. Analyse the problem
HHET &l
Choose the correct sequence
TE T T T ST
(a) A-D-B-C (b) A-B-C-D
(c) D-C-B-A (d A-D-C-B
Ans : (a) U9 TEEE ¥ gifera/ffed =won @
Ao HH 39 JHR -
o g FI IR e
o T F1 favarsur i
o 5o & forw wrfam AT ® ==t #ifse

o RO &1 e HIfTCI

28. Which of the following are examples of

community resources of learning in EVS?

Choose the correct group of resources :

defigm. afrm &

AT HETEHT & SETEUT hiA-| 872

HETLAT T HE WS P

(a) University, River, Radio, Computer
frafoarer, Fd, e, sifwwfem

(b) Carpenter, Shopkeeper, Teachers, Parents

(c)

(d)

University, Waste material, Parents, Office
faefommer, saldt gmfl, am-far, &g
Mobile phone, Newspaper, Jingle, Radio
HF, TAER T3, ,
Ans : (b) 3A.TH. H dgs, IHMR, foremeh, A-fua
afe afm & gl % 3SR 8 s
T ST & § foRa ST e § SR T8 e H e
A 21 3HH S BEI H SFA:GHAT H a9 gHd & N
i famei & guge § #eg HT b g1 wiew faEri
# g wHe @ F forw Rl aed w9 @B swEm
T TH B
29.

Which of the following statements is true
regarding 'Assignments'?

areran Wit @l & faw ®§ wiE-w
T TE 7?
(a) Family can contribute in it according to their
potential /379 SR &% FER GRER S
g # drmeH ? gehd £
Assignment is the only way of evaluation
ARG TeAiebT BT THAR AT BT 2|
Assignment shall be given as homework on
daily basis / % &Y
# fean S =nfew
Assignments help in creating ideas and
develop clarity / @i % [ &l
fomfor 3t 3¢ w0 § Haw W F
Ans : (d) SRfe=H R T $@ =9 & fEd &
formfor 3t 3% wE #W # qeg B 1 T TH
m%wﬁwwélmﬁgﬂw
fereroard 39 ¥R @

(b)
(c)

(d)

(1) T8 fafer 78 e e & 9 gdss fafy 2
(2) 39 fafer & sreamuss fqanfdai =t @fes W & fou
a0 F@ & ®q A 2 TG B FaH Hr g1 ord
feremef fifa wr § 39 & @ g F 2
(3) 39 faftr ¥ sdii H Gomeiicid N §U8 3 & g
1 fersbrg el 21
If you find that some students of your class are

very bright and intelligent, then how will you
teach such students?

Tfe TURT JATT & A feh MU Hall o He
faeneff sga g-Er oiv gigu €, 9« 3y T
Tferenfafat =t @ wgrEa?
(a) No special strategy will be used

faf¥re aftesHy/Ife s T8 @ ST

They will be made to sit with higher- class

students /3% 3I=9 H&N & famfial & @
ST ST |

They will be taught separately

3% 3T UGl S|
They will be taught
curriculum /3% HYE US=Al
AT ST

Ans : (d) 3 UH T & I h TS a1 F Hhe
forendff g SR 3 FfgmE 2, 79 UH T Fenf
F UG USTTA H IYAN FUGHT AT Hifh IqY
guf fren sfpar 1 afvs @ el geeqel wd wfeR
A Sar @1 e aftRefeE, feor ambeEl, e,
Ted @ werEd @ R wemswn @ Sfed yam e

ST B
Hindi/f&=t
fadom: (1-9) Frafefaa e = uget U8 T woet
o HEt/HeH IUGTh ITR AT ferehed i STl
aEd @t Niaht g ot gt @t 31 ae
et @ aaw ot uga 9 € Tk o oot
frey, foaeper auitw ot 31wl wg= W)
Tgelt UgA 9% § R 9% 39 @ @i feiar @
HIAT R THTIN @ a1 AT STk o T =T
el ®@ T WEET Al IUT HIk S ATem
ITTEHt givam Y STt ATeRd e § 3R TgeEer
w eyt oft SEt et @ fueEr ¥ oS-
TSI i TG ST, Tg WTLIRUT Sitel R i
21 ThIfer T AT TIRT 310 389 hl gorT =
A Uit & SEvT W i & 3R T Ut ue
w & Ul w oS @ HfgW ST §
et e 39 oAt oft W@ o @ R wet
T TS ATaeTen o1 TE g
1. form yer @t RNigth god oah fieht =

7
(a) TAgiaEd ffaft (b)) el feh
(d) w=" F e

30.

(b)

(©)
(d)

using enriched

H YT
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Ans : (d) 3TIH T F SER HEE & S ged
a2 fSerh w7 21 U el & wee e 2 5 a9
frega fiet, facga S@iw 2 21
2.  WTEH I it Ugell U UE ¢ f%h 9%
(a) HE1 M s H Greedl Tl 2|
(b) arens | Hemr B
(c) N # W H WaTg TE HLTI
(d) focper amoam & 2|
Ans : (c) IR & TIHR TEH T H 9 gA T8
2 f @ Anll & 9 9 WAE A8 T 2
3. gian ol 3TEeH dTehd [T UehT o T &I &7
(a) STHT I IS BTk S aTet
(b) T AN H TG A aTel
(c) I F HEE T I ATt
(d) TS F A RR PP T A
Ans : (a) TV & ST Sl STl ATehd A
JUST HLh S a1 AT &g § 1 SR FIeAaT B e o
3t aedt ¥ fierd 21
4. ;ﬁﬁﬁwmw%uﬁﬁeﬁwﬁw
?
(a) T wo=i § areafeshar 2t & |
(b) S g9 ol B &
(c) Tom 9ot & i =mariiss e & el
(d) T T IR B 2
Ans : (¢) T & FER TRH T 3T Al § Ff ™
7 8, 57 Foi o w1 AEeiie o1 Fé a
5. g@v—u@uaﬁé@ww,%
|
(a) SHifd HA aret AT (b)  WIEE A
(c) TTHRYT SiE (d) fus am
Ans : (¢) ST a1 § R M & Ifd & fau wrene
S’ fohed T 21 39 YHR W QU 9 @- SSE-
TSI &I IEH T, T WHNOT A H B 2|
6. T=T vIeg T wHTE ITeE SATEU
(a) WS (b) FRR
(c) HEH (d) Taefa
‘Ans : (¢) T=T wi=g o1 gt @ anm ‘
7. ‘qreha’ T facmreff veg

.........

(a) frsfer (b) HHREHR
(c) Wk (d) &ma
Ans : (a) Thd I8 &1 Gl g ‘Feear g
g Teremmr
YRR SRR
i<k gfrorer
& STeTET
8.  ‘odrw’ ot aret
(a) o (b) frfg
(c) Tiferd (d) TU®

Ans : (b) TS % SFTHR ‘@ F 399 Fafa g
I aref
i) EUE
Sifehd NEART
ELuIC) FR
9. @ ®U B
(a) wfsfem (b) HAfgH
(c) #fem (d) wefEm

Ans : (b) &3 T facdt & 35 v= Afew 21 3 9
foehed arers €
fadem: (10-15) fafaiaa wTeaieT o Uget U8 g
;ﬁ%aﬁmﬁﬁwwmﬁﬁmaﬁ
|
<iET A St W& Shifer, G W § Th Tl
& Ye-grenil § geIR @l # ¢ Srerd forardt
T-UT W T 1w
a7 ¥ ¢ A Sfre= e
Y& S T UTS Had
gt § WRa W g
H ot wgw fougrett & oft s wE ol
[T T & AR T, B faw et g €
efiest &t TS Uerdt
e T ATt feaTdt
H T arer, § |gs vieh
gl Ra /T
gt st Afeet 3K o # = §7?
(a) T 1 A (b) B S AR
(c) e 3R (d) TR 3R g
Ans : (b) 3UH BT F R Tgl FI AE AR gl
¥ A 3R gaR 2
el ARl S wes Hifd, e § 8 qEhr ol
8 Ua-gE # gAR’ @Al § ¢ der faad
11. ‘Tat | dieta foradt’ g1 ot o= aread g2
(a) Tl H HEA wTecTel W 2|
(b) Tl F et g @
(c) Tl & U 9@ W 2
(d) @l # ¥ e 2|
Ans : (a) FAN & IR Gal § dad o@l g4 9
s 2 ‘Tl § wEd el @R
R Ua-ER # g Gl § @ e o
12. AR Tl ol Glaaent A1 el 1 57
(a) Eifh 98 T 9 S B ol 2|
(b) i o auf Fa  TEEH B 2l
(c) FHifh a8 4 9 TE & IS TgE 2|
(d) =Fifer a8 e e qEhredt 2 |
Ans : (¢) FIAT § GG A H gl 39 faw e T
2 ifh 9 A g 99 9 a1 918 ggn 2|
13. Terwreh oo o fasma o &2
(a) @Al % (b) @i %
(c) I % (d) RE AT F

10.
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gns:(d)m%w‘ww%w’ﬁﬁmw
|
uf¥h- WO W faEs w0l
0 Y 8 F S e
‘SigT ARt W WES witd’ Utk W fAied TR
2

(a) 9% (b) ST

(c) &% (d) ST

Ans : (b) 3T UftF § ‘IYAT STeiRR fAfET 2|

IUAT STAHN- SR Th % N qol A THA gE A% |
F ST, FEF I SRR I 2

G- T W % guE gl 2

14.

15. ‘"@x’ ot o1t T )
(a) TEUS (b) et
(c) HIA (d) weTefrer

(c) forendf #1 4-5 @l § w@d &1 =T & &
fere e
(d) fe@m U fm & dF g § avle W F
feTe e
Ans : (b) TR o7 1 ST 1 797 faranfa & gau
FHIETS BN SHeT FTT 21 396 T FAE T Farl W
ot T & forw e =)
19. U STTeRT 3T TH-G st el ot Tk UG
Tt ¥ 30 Yok o TS hl T Shgdl?
(a) T T g3 (b) & YA
(c) TEH TR W It (d) foega ved
Ans : (d) T STl 310 98 1 FHEET & TS TS
W 21 39 YR & U4 I Faega god &=l
forga vea- fawgd wea # ues ou ®fg & fawa &
U 99E MW & & [T FE JEel, SRR T,
afieRail enfE &1 gedr 21

Ans : (d) FEfer Tt & o F& 2| SEih yE=vs,
feor, W TR TR F gAAE 71 e &1 o7
e BT el gl
16. ‘et R TEs’ o 9N | hIH-9T HAT Tt &7
(a) el ATl 9 ¥ oY WA @ et dgst
9T Y A N W2, 3T Ak § G 7
(b) ST ardfas W § Gafyd 2 SEfh et
T Sier & Al ¥ Heiferd 2|
(c) TSl Uh & 9w & fafew &9 & e
ST - B 2 |
(d) el frd =fh e % S=amur & ol 21
Ans : (a) Tl X e’ & aR ¥ T H9T - AR
Il 9T ¥ Gy T@dl @ @i g 9 ksl
@8, 39 alie ¥ gaefid 2
17. g e faom =1 e U UW @ &% WU
o gfatya feram war & 59 ad 2026-27 T
T AT § HETT Tk | WIRNEAT o T8 39 TG
W T § TR e
(a) HH T HH 2 T 3 FUT aTel TA I3 U T |
(b) g UG STURFT el WOEl & 3T FA §
FH 4 § 5 WA VR G B qET U T
(c) wfd fiFe 45-60 weg 374 wied ug urd)
(d) 3 fiFe &7 ° 57 60 g 314 Higd ug i
Ans : (b) T RT e &1 32v9 & UH A & &9 F
gffem fhar mam 21 R @ 2026-27 T QU HE 2
HeqT Th H WA F e 39 e W T 8 B I Iy
IR STIRf qre 9l § T H9 § 4 4 § 5 WA
Y AT B A U¢ Y|
18. R o9 &t 3remTiuehT Rl 3TuA ferEmfden
STIUT THITTE T TR HEAT Bl ST THE foIU
Tera Tifafarfar Rt Hemer shdaT ameu?
(a) & T TR ¥ ved & o Wad & forw

Eroll
(b) GIE T et W R S99 % oI e

20. R TR ohi 3MEATUHT UiHAT ATMRA @
SUTTH ST JANT T T §| @ gd Tfafenes &
2N 9 ToRE Fivh T SITEXT Y Tehelt §7
(a) Y HYA (SFRIHT)(b)  FHte
(c) wPaad (d) gl

Ans : (a) F&T IR B TEAMGHT Ufhar MMRA oRa

SUNTH N YA W | oEd qd ity & &SN 98

A o R BT ST B Gehdl 2

U Hee (SRR )- 7 fuwwr &t fafy @

e siformedl & wfias § foret gween & wmee '

ferer = T B T fpaT S |

21. HET AT W reATYRT Iu faed=n & |
oA Sy W wE W W 8 9% fRe g e
STTEXUT Y Tehelt &7
(a) IS H UT T HfI VR H Yaci® HEM
(b) TS T Uy Tl qX SAEIRA T ISl
(c) TS T Ui W H ST wfed vl & ord

e HLEHT 3 fergar
(d) ST g Uge & SN WE o @ G vl
I @ifhd A F T FHg

Ans : (b) TR T H TR 07 fenfiar & @y

WS AY W FE B @ B 9 TE T qreT g W

SMIRA 97 TS GRE HT ST F G

22. Uah USH Weeft wifefafr e fremeff uew
it & fafis gl &t gAd-ued €, aeagm
wE T HH h AT GEATSt w1 -
S &hd &, TE AT Thgeqir?

(a) JATE & T qrSEr
(b) YARR &% WY YAE
(c) =@ RWE (Y A=)
(d) ot e

Ans : (d) T U39 Haedt nfafafer g fwendf oo i

F faft feegl it gao-ved &, ac9g s B U B &

fw gammedt &1 SEE-weE S &1 a8 R gaer

FHEATL |
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23. 9RA @R g 9[&® feu T wewA e
(NIPUN) 9Re fom o1 9@ &g o o
FATEr RV B HASEd HT 1 USRI I
BICE

(a)méaﬁwwhmﬁai@@%ﬁ
I

TE

(b) TvFe THRmRE wR NfEREd @ T fay
o s o

(c)mgﬁﬁmﬁatﬁ{mﬁa@@%ﬁ

s
(d) FvFE eEvE B MR g T fay
T te e
Ans : (b) YR FHR ZU Y& 6T T FrEiHA AT
(NIPUN) 9Rd fie &1 9&7 &5 91 # afandt srerat
T HRT BT | FTHN G AW - A SRS BR
TR g7 fE fay sfewefen de —mah
24, U Toremeff 3 sremmes g few owowmeT WL
1 AU LTSt AT TAEh it WG & YA HLAT
21 9% T & &l foAT Aee & fmw oimr 9o
& Fehal & 3T foRaaT 31U aoes av s
WYY TEUTS il WEg W & Tehell §, 3T 41 &
ofter st WSt ( 3TARTE ) Rl ST el ST ?
(a) ST 3T IYHIT
(b) STRYE HrRdr
(c) wgefieRu
(d) Ty faam &1 &7
Ans : (d) T f¥endl 7 sreamus gRy fRw T A e @
AT FETS AT FAEH B HEE § G BT &1 T 3 B
& fo T weg & fohg G de T Tehdl 8 SN fhar atae
Fh AT AMYH GeTW RIS S Hag ¥ L Gehdl @, 3
TEI % g @ Hrear (Fae) # ey fasm #@
& T S|
25. Tfd GYg URA ST G WINT AT | "eg
HTAT T HAT W TH YRR T URAYT AT wiA
o foTT 3reaTueh @Y 9T ST TfRu?
(a) foenffl & & 3 o= wrew arfht wed &
T I AR
(b) faenfi &t qfsd gweE died § Aeg HE
Ll
(c) foranfi 1 sy drad § ew Foh TR
(d) oToRfea gfsd wew el & fau AU v
g & faw seT =few
Ans : (a) 930 G945 TRAY H G AT AR H HaR
FET 21 FT F T FER H 9RAW g F fog
AT i foranfefe @ Q& 9 3T Uied W Ued &
T I AR
26. TrAfafaa o | SA-G1 HU YT A6 35 &
SIRUT T WET SR &7
(a) TEAMT, & VAT T WO, TH U a
=0T, RIS ST =0T

(b) TN, TH V& AT o1, I I e
=T, GfaTe e =T
(c) U VT ara oROT, SaAHl, & Ied ae
=T, GfaTe ST =T
(d) TH VEEF G T, a Vg 9 =,
AT, Gl Frerr =L
Ans:(a)HWWW%WWWWw,ﬁ
YA 9 WR0T, Teh Veald dred o1 q91 G arer
TR 3| AT 3Fol b i e R gan 21 oy
T ®9 § HFRAq & S 21 B F 10 "EHT |
79 SrgTEMT & AW 3 2
27. IE fooIR foh O GEsTTe AToT ST SUhUT
WY 5 o 2, Terdeh gRT wfernfaa 87
(a) 9 AT (b) HTH AT
(c) < foramst (d) fom =
Ans : (b) T8 fo@R fF AT TESG AT 375 ITHWT &
Y S od § I8 HUA AH SHEh §N Sfaned g1 A
ATEh Sl AT 4B S A S 8 e &
STIER el § AT SIS I (LAD) Bar 81
el § 98 fohEt 9 & i i ¥ 9 g 2
28. T Id WHSAAT ¢ 3 AT WA it & I8

Atk TehEehT ATHTTT HIT?
(a) S=ERT (b) ST
(c) Yar8 (d) v ¥ER

Ans : (d) T Y= GESA 8 3R STHT AT H B T
T g HSR T Hhe SO | dTeis JI9 ol §
fordes v/sg &1 JAT A §1 I Ao H % B T
A IRV A 1 YE H A S § &
IR GRET & |
29. Tr=Atafga § | -4t T s & area
IV oh STheT & WITh &l hi ST =T ?
(a) T3 T IS § v & 7 e
(b) =9 R oReM # wgd s wEE B
IGh AR | FAret
(c) 319 3T HT 4-5 N § 9R=g &
(d) femm =1 ® fom & &9 gt § auia w0
Ans : (a) I &% I HYA & MHAT 8] Te TC IS
§ Yl & 31 aq1 SUI e eIl S=al e ue |
yeal o 31d AT HSd Hivrel Bl 81 SHfeT 3! 37
&1 hieret T faan S 2
30. o HA-®T 9T feR g NEH oafth Srerd
wlier 3 3fora v @ g & W uTer €2 Ug
;maﬁaﬁaﬁ'{msﬁ‘éﬁ'ﬁ'&aaﬁumﬁﬂm
|
(a) feoifergar (b) femhismar
(c) feafaa (d) feehepiem
Ans : (b) SR a8 9 R € o =afh Sfed
T o 3fud o1 ¥ v T W@ U §1 T8 W e
3R gug & alieh &1 gwifad s 21 fesifran feam @
Haiferd TR 81 fewherpforan T wefem wifawR
21 feauyer s wmor eafy o 2|
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English/3T0sHt

Directions: (1-8) Read the passage given below and
answer the questions by choosing the most
appropriate option.

Fifteen years ago, brothers Nadeem Shehzad
and Mohammad Saud rescued an injured
black kite and took it to a veterinary hospital.
The hospital refused to treat the bird saying
that they did not treat birds of prey. When the
brothers found another wounded kite, they
decided to take matters into their own hands.
They took advice from veterinarians and the
Internet and set up an operation theatre in
their bedroom. This was followed by an open-
airward on their terrace. Adults and children
alike from nearby localities began bringing the
injured birds they found. Both Nadeem and
Mohammad have always loved birds and
animals and are saddened by the meagre
facilities available to injured animals. Today
the brothers have learned to treat such birds
and they have 28 injured birds recovering on
their rooftop. ""We've taught ourselves to treat
fairly complicated injuries," said shehzad. In
fact, the brothers are the only people in Delhi
who stitch back torn wings. Their patients
often fly off even before the stitches are fully
healed! '"During Independence week, Kite
flying is a national pastime. However, the glass-
coated Kite string (manjha) is so sharp that it
cuts through wings and bones of birds. It is
dangerous for the pigeons, crows, owls, Kites
and other birds that get entangled in it! Often
kite fliers don't realize that by leaving strings
of cut Kkites on trees, wires and buildings -
they're creating death traps for birds.

""We also want to learn micro-surgery to join
broken arteries and veins. And we're studying
techniques of joining bones," said Shehzad,
"They almost all the birds we treat will be able
to fly free!"

1. The report is about
(a) two birds sellers
(b) two brothers who treat injured birds
(c) two brothers who fly kites
(d) two brothers who are veterinarians

Ans : (b) According to the passage "The report is about
two brothers, Nadeem shezad and Mohammad Saud
who treat injured birds.
Hence, option (b) is correct answer.
2. The boys were prompted to treat injured birds

on their own because

(a) of their love for birds

(b) of their love for surgeries

(c) ahospital refused to treat an injured kite

(d) there was no hospital for birds
Ans : (¢) According to the passage "The hospital
refused to treat the bird saying that they did not treat
birds of prey when the brothers found another wounded
kite, they decided to take matter into their own hands.
Hence, option (c) is correct answer.

3. Who helps the brothers locate injured birds?
(a) Hospital staff
(b) Children who fly kites
(c) Information on the Internet
(d) Adults and children from nearby areas

Ans : (d) According to the passage "Adults and children

alike from nearby localities began bringing the injured

birds they found.

4. What does the term "meagre facilities' refer to?
(a) Good facilities
(b) Poor quality facilities
(¢) Minimum facilities
(d) Useful facilities

Ans : (b) According to the passage 'meagre facilities'

refer to poor quality facilities.

Meagre — Little/Poor

Hence, option (b) is correct answer.

5. Which one of the following words is opposite in
meaning to the word 'entangled’ as used in the
passage?

(a) Twisted (b) Intertwined
(¢) Released (d) Caught

Ans : (¢) The opposite word of the above given word

'Entangled' (39T g3 is 'Released’ (I feran g3

while the remaining option are different in meaning.

Hence option (c) is correct answer.

6. What makes Nadeem and Mohammad special
in Delhi?

(a) They are experts in kite flying
(b) They are the only people who stitch back torn
wings
(c) They have always loved birds and animals
(d) They make kites with soft and harmless
strings

Ans : (b) According to the passage 'In fact the brothers

are the only people in Delhi who stitch back torn wings.'

Hence, option (b) is correct answer.

7. Read the following statements:
(A) Nadeem and Mohammad
operation theatre in their bedroom.
(B) The veterinary hospital treated the birds of
prey successfully.
(a) (A)istrue and (B) is false
(b) Both (A) and (B) are true
(¢) Both (A) and (B) are false
(d) (A) is false and (B) is true
Ans : (a) According to the passage "The hospital
refused to treat the bird saying that they did not treat
birds of prey. They took advice from reterinarians and
the Internet, and set up an operation theatre in their
bedroom."
So the statement (a) is true and statement (b) is false.
Hence option (a) is correct answer.
8. "We've taught ourselves
complicated injuries'.
Identify the clause in the underlined part of the
sentence given above:
(a) Adjective clause
(c) Principal clause

set up an

to treat fairly

(b) Noun clause
(d) Adverb clause
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Ans : (b) The underlined part of the sentence "To treat
fairly complicated injuries" is a noun clause.

Noun clause- A dependent clause that play the role of]
noun, either a subject or a object.

Hence option (b) is correct answer.

Directions: (9-15) Read the passage given below and
answer the questions by choosing the most
appropriate option.

1. Forty kilometers from Bellary, on the road to
Bangalore, a thoughtful signboard directs you
to a national monument. If you follow the
directions for a few kilometers on this road,
you will see a group of rocky hills rise abruptly
from the plains, on the banks of the river
Janagahalla. Between the river and the hills
lies Siddapura, a small village. In three
different spots on the hills in this village are
inscribed the fabled edicts of Ashoka, one of
the greatest figures of Indian hisotry. Edicts
were the orders given as messages by the ruler
to his people.

2. Of these, the one at Brahmagiri is the best
preserved and for the visitor, the most easily
accessible. It is located right by the side of the
road. All you have to do is to climb a short
flight of steps and you are face to face with an
Ashokan edict, chiseled on a huge boulder,
facing skywards. The second edict is half a
kilometer away from the main road, on an
outcrop of rocks and the third, about two
kilometers from the road, on top of a hill.

3. It was the practice in ancient times to inscribe
codes of conduct on rocks. Ashoka followed
this practice after his conversion to Buddhism
which happened after his victorious battle in
Kalinga. The carnage he saw in the war
affected him profoundly. He had his messages
on good behaviour and conservation inscribed
in different parts of his far flung empire but
the name Ashoka is not mentioned on a single
edict. The edicts are in Pali, the language used
by Buddhist missionaries and the characters
are in Brahmi, the earliest known Indian
script. The script used in these edicts was first
deciphered by James Princep in 1837, who
succeeded in deciphering an ancient inscription
on a large stone pillar in Delhi.

4. Initially, scholars did not know who the author
of the inscriptions was Most of the edicts
referred to 'the beloved of the Gods, Piyadasi'
as the author. It was not until the last century,
in 1915 with the discovery of another edict in
which the author identified himself as 'King
Ashoka Piyadasi' did historians realize that all
the edicts were by Ashoka, the Great.

Ans : (b) According to the passage "The above passage
is related to 'how king Ashoka spread his messages'
while the remaining option are not suitable.

Hence option (b) is correct answer.

10. "----On the road to Bangalore, a thoughtful
signboard directs you ---"" The word thoughtful
is used for the signboard in the above line
because
(a) it directs one to a beautiful village
(b) itis located on top of a hill
(c) it shows the way to a national monument.

(d) Ashoka's instructions were there on it.

Ans : (¢) The word 'thoughtful' used in the line 'on the

road to Bangalore a thoughtful sign board direct you'

means it shows the way to a national monument.

While the remaining options are not suitable.

Hence option (c) is correct answer.

11.  Which of the following is true in terms of the
practice followed in the older days?

(a) Convert one's religion

(b) Inscribe codes of conduct on rocks
(c) Carve out monuments from rocks
(d) Fight battles

Ans : (b) Inscribe codes of conduct on rocks is true in

terms of the practice followed in the older days. While

the remaining options are not true.

Hence option (b) is correct answer.

12. King Ashoka embraced Buddhism because he

(a) wanted to adopt good behaviour

(b) was a great follower of Buddha

(c) was moved by the destruction caused in the

battle in Kalinga.

(d) wanted to spread the message of Buddhism

Ans : (c) According to the IlIrd para of the passage
'Ashoka followed this practice after his conversion to
Buddhism which happened after his victorious battle in
Kalinga. The carnage he saw in the war affected him
profoundly.

King Ashoka embraced Buddhims because he was
moved by the destruction caused in the battle in
Kalinga.

Hence option (c) is correct answer.

13. Which of the following words is similar in
meaning to the word 'fabled' as used in
paragraph 1?

(a) Unknown (b) Historical
(c) Renowned (d) Real

Ans : (¢) The similar word of the above given word

fabled (30T faT §3) is 'renowned".

While the remaining options are not suitable.

Hence option (c) is correct answer.

9. The passage talks about 14.  Which of the following words is opposite in
(a) King Ashoka meaning to the word 'carnage' as used in
(b) how king Ashoka spread his messages paragraph 3?
(c) asmall village (a) Bloodshed (b) Killing
(d) King Ashoka's good behaviour (c) Havoc (d) Peace
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Ans : (d) The opposite word of the above given word
'Carnage' (FREBR/ATHIVE) is 'Peace’ (TMfd) while the
remaining options are not suitable.

Hence, option (d) is correct answer.

15. Between the river and the hills lies Siddapura,
which is a very small village. Identify the clause
in the underlined part of the sentence given
above :

(a) Adjective clause (b) Noun clause

(c) Adverb clause (d) Principal clause
Ans : (a) The underlined part of the above sentence
'which is a very small village' is an Adjective clause.
Adjective clause- A dependent clause that adds
something about subject or object or modify them.
Hence, option (a) is correct answer.

16. A teacher believes that freewriting will help
her students to strengthen their language skills.
Freewriting can be understood as writing
(a) that is taken from any free source
(b) that is based on free drawing
(c) that is based on noting down everything that

comes to mind, without concern for rules.

(d) that is planned and written for a free source,
with a focus and concern on grammatical
rules.

Ans : (c¢) Freewriting can be understood as writing that

is based on noting down everything that comes to mind,

without concern for rules.

Freewriting- It is a technique in which the author

writes their thoughts quickly and continuously without

worrying about form, style or even grammar.

Hence, option (c) is correct answer.

17.  The steps to the writing process
(a) begin with publishing
(b) end with mindmapping
(c) begin with brainstorming
(d) end with reviewing

Ans : (¢) The steps to the writing process begin with

brain storming.

Brain storming is a method of generating ideas and

sharing knowledge to solve a particular commercial or

technical problem in which participants are encouraged
to think without interruption.

Hence, option (c) is correct answer.

18.  Which reading technique is used for reading
the daily newspaper?
(a) Extensive reading (b) Scanning
(¢) Detailed reading (d) Skimming

Ans : (d) Skimming reading technique is used for

reading the daily newspaper.

Skimming reading is a technique of reading rapidly in
order to get a general overview of the material.

Hence, option (d) is correct answer.

(c) learners to memorise and reproduce the text.
(d) learners to memorise the meaning of difficult
words they come across in the text.

Ans : (b) A teacher of class-6 engages her students in
pre-reading activity. This will help the teacher to
connect the text with the previous knowledge of the
learner.

Pre-reading refers to all the things a reader does before
reading in order to engage with the text and increase
capacity to understand it.

Hence, option (b) is correct answer.

20. A person who is fluent in many different
languages is called a
(a) bilingual speaker  (b) polyglot
(c¢) monolingual speaker (d) linguist

Ans : (b) A person who is fluent in many different

language is called a polyglot.

Hence, option (b) is correct answer.

21. Gitika, a class-6 student is not able to
pronounce a few words properly. The teacher
provides her individual attention and helps her
by using various strategies. In Vygotsky's view
this kind of support is
(a) Reinforcement (b) Scaffolding
(c) Conditioning (d) Modeling

Ans : (b) Gitika, a class-6 student is not able to

pronounce a few words properly, the teacher provides

her individual attention and helps her by using various
strategies. In Vygotsky's view this kind of support is

'scaffolding'.

Hence, option (b) is correct answer.

22.  If there is a student with visual deficiency in a
class, which of the following strategy must be
followed by the language teacher?
(a) Informing the authorities for

special teacher for her
(b) Treating her normally and providing support
through audio material
(c) Ignoring her and focusing on other students
(d) Excusing her for performing lower than other

Ans : (b) If there is a student with visual deficiency in a

class, language teacher must treat her normally and

provide support through audio material.

Hence, option (b) is correct answer.

23. A language teacher assesses the learning and
progress of each child of his class by collecting
information by conducting various language
activities and tasks given to them. This type of
assessment is
(a) Formative (b) Summative
(c) Proficiency (d) Continuous

Ans : (a) A language teacher assesses the learning and
progress of each child of his class by collecting
information by conducting various language activities
and taks given to them. This type of assessment is
formative.

arranging

19. A teacher of class-6 engages her students in
pre-reading activity. This will help the
(a) teacher in summarizing the text
(b) teacher to connect the text with the previous
knowledge of the learner

Formative assessment is a planned, on going process
used by all students and teachers during learning and
teaching to elicit and use evidence of student learning to
improve student understanding.

Hence, option (a) is correct answer.
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24. A teacher of grade-7 has to evaluate writing
skill of her learners. Which of the following
should be the objective of the test items

developed by her?

(a) The learner is able to take dictation.

(b) The learner is able to describe a character
orally.

(c) The learner is able to express ideas
coherently and systematically.

(d) The learner is able to comprehend the

questions and write their answer.

Ans : (¢) A teacher of grade 7 has to evaluate writing
skill of her learners. The objective of the test items
developed by her is the learner is able to express ideas
coherently and systematically.

Hence, option (c) is correct answer.

25.

After reading the text, the teacher has to
engage her grade-6 students in post-reading
activity for enhancing reading comprehension.
Which of the following task should she select?
(a) Giving dictation of the words that they read
in the text.

Ask students to write in 7-8 sentences about
what they have read

Ask students to memorize and write the
meanings of difficult words that came across
while reading a text.

Ask students to copy the questions and
answers from the board in their notebooks.

Ans : (b) After reading the text, the teacher has to
engage her grade-6 students in post-reading activity for
enhancing reading comprehension, she select to ask
students to write 7-8 sentences about what they have
read.

26.

(b)
(©)

(d)

Peer review is understood as an important

srategy for improving students writing process.

The purpose of peer review is to

(a) encourage in finding faults of their peers.

(b) offer formative feedback to their peers which
further helps them to improve their drafts.

(c) help the teacher in evaluation of writing of
students.

(d) be able to connect ideas and build paragraphs

for the writing.

Ans : (b) Peer review is understood as an important
strategy for improving students writing process, the
purpose of peer review is to offer formative feedback to
their peers which further helps them to improve their
drafts.

Hence, option (b) is correct answer.

27.

Becoming a skilled reader requires learning to
reason about written material using knowledge
from everyday life and from disciplined fields
of study. So, it can be said that skilled reading
is

(a) Fluent
(c) Extensive

(b) Constructive

(d) Decoding

Ans : (b) Becoming a skilled reader requires learning to
reason about written material using knowledge from
everyday life and from disciplined fields of study. So, it
can be said that skilled reading is constructive.

Hence, option (b) is correct answer.

28. Which of the following is not true for
multilingualism as a classroom resource?

(a) Teachers respect diverse linguistic culture of
the class.

(b) Linguistic and cultural deviations are seen as
tools for language learning.

(c) Teacher gives opportunity for peer
interaction in the class.

(d) Diverse languages of children are neither

tolerated nor used in class.

Ans : (d) From the above statements, statement 'Diverse
lanaguages of children are neither tolerated nor used in
class.' is not true for multilingualism as a classroom
resource. While the remaining statements are true.
Multilingulism is generally understood to mean
knowledge of more languages than a native language.
Hence, option (d) is correct answer.

29. A teacher of class-5 provides such
opportunities of assessment where students
decide for themselves whether their progress or
language use is good or not. This type of
assessment is referred to as
(a) Summative assessment
(b) Group assessment
(c) Peer assessment
(d) Self-assessment

Ans (d) A teacher of class-5 provides such

opportunities of assessment where students decide for
themselves whether their progress or language use is
good or not this type of assessment is referred to as self-
assessment.

Self-assessment is a way to learn more about yourself:
What you like, what you don't like and how you tend to
react to certain situations.

Hence, option (d) is correct answer.

30.

A type of writing that explains and illuminates
facts is

(a) Descriptive writing (b) Expository writing
(c) Persuasive writing (d) Narrative writing

Ans : (b) Expository writing is a typed of writing that
explains and illuminates facts.

Expository teaching is one of group teaching strategy
that should be applied in teaching learning process.
When student receive information from an expert or
authority on the subject.

Ex- Lectures, presentations textbooks and videos.
Hence, option (b) is correct answer.
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=i TdrereR ursar (CTET) udtarn-2022
grerfies WX (Class 1-V)

(Shift-T)

STEAT e TS UIT-US T BT (orftarr fafer : 04 weardt, 2023)

Child Development and Pedagogy
CIGRCEIRRCRMIINIE]

1. Which of the following statement is not correct
about development?

o & o ® fre ® @ -9 e et T
®?
(a) Children develop at different rates.

wed Tl & W et @i €
Development is relatively orderly.

ferehTa STUeTRa itk B 21

Heredity is the only cause of development.
AT T 1 T A BT |
Development takes place gradually.

fopre R &9 ¥ T

Ans : (¢) ST fobrd &1 Th 97 BRO 8, M &
Tadt 78 B9 T T § b STARIHAT qe wEtawer At
& =3 % fag 3 Fule 8n &1 @ AR &1 e S
B I8 wafater | el war @ A sfs e fsiha
& Gebedl & I8 SMATSTha W el e 31 fg A wfwan
T It &1 IR, fhaTemh, ST, WNEE, HameTh
s gEiSE fawE g 81 foee @ gimar # wrE
& T o sifiret BT 21 et $ faer & ufpear 5u%
9 Y @ § & e @ S 2 e S e e §
T oRysea @ Refy @ e &) g F R E g
forferiad fergmand i 8-
.ﬁwﬁwmsﬁél
o 5= fafir &l W el 8 2
o g P &9 9 8 2
2. Human capabilities such as - intelligence,

problem-solving and critical thinking come

directly under purview of domain of
development.

et et S fR - dfeg, THEn-wHEne
3R AT feia= o1 9y w9 9 faerms
& forE &7 & STaia rea feRa wTaT 87
(a) Physical/ TR
(b) Emotional / HaTcHa
(c) Cognitive/ SR
(d) Moral/ 3fts
Ans : (c) TFEE AT S f55- f, THET-THEE R
e a1 9 ®9 ¥ e & g9

87 & Hdq e R ST 21 Gy &9 &

(b)
(©)
(d)

siemfa AMras fBRasll & g oierM & we & R

HIE & SAaid JE, Hoedr, guIn, fovewor, dyoso,
o, TRAIHT0T, oA, @, fbad, sTwam, 9,

AT TS I ¥ UM U WEae SR 8,

g Aread 9§ &8 =Afh -

o SR i I Ll 2 |

o T F A fIHIe &1

. ﬁﬁ?@ﬁ%%ﬁ?l

. ?ﬁaﬁaﬁ%aﬂaﬁﬁam%

° WTH%WW%I

o I8 4G 3 ufshar AR Bt 21

o GYFHS fag § arcis § Rad 1 g9 aadt 21

o TS WS w1 fawE dvEEEr 4 9w &
TRE BT STl B |

3. Assertion (A) :/3TFTRAT (A) :

Children acquire skills, values and customs
only through formal schooling.

ool Shelel TR Thelt FOTeIT §IT € whrvret,
T iR fiferat weor @ #

Reason (R) :/<pT0T (R) :

Socialisation of children is a simple and linear
process.

SeEl ohT HHTSSRIUT Uk Wt o Y@ wishar €1
Choose the correct option :

& oo g+ -

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/ (A) 3R (R) gt
e € 3 (R), (A) 1 G AT BT B
Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(A) 3R (R) a1 T & @fET (R), (A) 3 &
ST TE BT @

(A) is true but (R) is false

(A) T& ? R (R) T 2

Both (A) and (R) are false

(A) 3R (R) @41 Terd &

Ans : (d) 3F® TF # AFH (A) T IR (R)
Told 21 e hael SUEIRe Whefl RN SR & e,
e 3R vt wew T A 21 9% SRS R gw
e fpamehendl &1 o Stege wd 21 TR
foren, oz foren @ S faftm sivaReastt & w19 e
F fafaa freer Brmfe & ¢ o 9= fafh s 9
ferferad srem & S 21 39 w1 e ik gw ffde
gl ® q9r 5 e & fav-gm o Fyd @i @1 s
& G U 3T & W Sfsa | e 8 1w

(b)

(c)

(d)

5
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for-forr T § fosfem @ @ Tufom 9 W T wa
ST kel & | FTCh & THISTBT § SFHT BT g AR
e BT 8 Fifh T & 9% TEU HT IR B
3% ol B GRgAT &1 ST SR SN GHS % oAl S
B 8 SR IR F §, o IU H SFIHOT HA §
R R 391 & TR F T

4. As per Jean Piaget, individuals continually

keep searching for a solution to achieve the
state of

TR St = U = &
TR @ A o @ @At §2
(a) Equilibration/@@’c_ﬂ
(b) Disequalibration/3THde
(c) Assimilation/3ATHHTCHITT
(d) Accommodation/SHS
Ans : (a) STH oS o SFER, = Gqad e &l
T T & AT gueE # R @is e § o @
21 S 9R FRE # TedH HT §; SAfas gRyeE,
e o (Tffaf) WS eHwa e Hqed
(equilibration) S 5t & TymTHS farq & yefed
0 &1 oS % oER, ol § ardfas wRadd gqem
# uftar & AW ¥ A 21 U 1 IR 39 A@
FM B & A &9 el ge an Rafq & g o o
a7 S F AT H G I At @ @ e
3 2T 7, 3R g 379 @ 9 2
5. Hypothetical-dedcutive  reasoning is a
characteristic feature of /TR eheuATeHeh-
frrmaTeeR ek fere ouT st fafdTe fergmar &2
(a) Sensorimotor Stage/TAEI-TTES =T
(b) Formal Operational Stage
GfohaTeHeh =T
Preoperational Stagefc,_[aC -Gifsharee =T
Concrete Operational Stage
T ichaTc® =T
Ans : (b) N & FeES fowm fagm & STER,
TR foeR 3R a9 T ghe &1 e &1 SR fas
Faesll & UF ffdd w9 F E FT g1 Th
TS foeh &l 9 W QS of:
(1) H9& T ST (FH — 2 T9)
(2) q& dfshareeh stawar (2—7 W)
(3) T dfsharer stawem (7-11 a§)
(4) 3T=Rer GfparcHes o1awr (11 + a9)
HTaRe WihaTcT (37 STEERuN) SN Tee W H|
FT I & 11 99 F Y % UM T B 21 39
T W IS faem # fEe 3 “gRecus-
frmams @6 @ otEvas wer On U sW
RG-S 3 3T etaunuTe W R
FET A H Ghd 21 9 T3 “Fa-v” Refeat aik
T W AR w € iR &S wEeE a1 gt aRomt
F AR # G # wm AW 81 e N & eER
AT fae &t oiiu=iie  dfhards  ofawen o
TReeaAT e faetd 8 2 |

foT wwa=

(c)
(d)

& IIER, HAH

6. According to Jean Piaget’s theory of cognitive
development, at which stage do children begin
to move from reflexive actions to intentional
activity?
ST s & deTew faee & fagra &

ITER, form erawen # o= SHE® (Hew)

foramett @ Ufeme feramedl &t MR s@AT THY

wId £7

(a) Sensorimotor/Fae-TTTHS

(b) Preoperational/J8-SfshaTeTsh

(c) Concrete Operational/ﬂﬁ GfohaHeh

(d) Formal Operational/3itu=ifiss Hfsharces

T T & uref #

When presented with the ‘Heinz dilemma, 8-
year old Gurpreet responded that Heinz should
steal the money because he needs it. At which
stage of moral reasoning is children’s
judgement of right and wrong determinded by
personal needs and wants?

S g W o % A s-affa oA
T 5 Fo FA T U T A A
I THE! TAA ) Ak deh o fohE WX W
oo WE 3R Ted o hEe St Seat
3R SATEAT oh HTUN WX A 22

(a) Punishment and Obedience Orientation

% 3l ST st

Instrumental Relativist Orientation
it Fifere ST

Good Boy- Good Girl Orientation
DT AGRI-3TTD] TAGeh! TG

(b)

(c)

Law and Order Orientation

FA 3R FFE S

Ans : (b) T " % 918 8-aua EXill
3 fr &f%w@mmsﬁﬁw
At % & ‘i T e T W a= 9e
T o haell  SARKIT Sedd! AR =Edl % JMER T
A ¢ | FaER F efebar Wied W el Sed 21 Tt

(d)
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e & fIu F© gENes TRomH
HHL AT TH = & deh 36 T T & Fohell § o &1
F @ wE oo A A dw % fou fafem dew

(a) Psychoanalytic/AIEa¥eIouTeH

(b) Socio-cultural/FTHISTeh-HEH

(c) Behavioristic/HagRaTar

(d) Information processing/g=l THEHITT
Ans : (b) W9 TN & Aged H WIS -
QieHfas #1 fagr a1 T 1 |9 aTice Th &4
Teawe 91 RlR amfee-asfes fagra @
feareT e oar1 ot e o 1 & (zone of]
proximal development) ZPD & =9 & off ST Sl 21
AR & STAR BHEl S I HEH A1 34 fawe
F g 3P qntata a1 feen-frder @ smavasa i §
3R BEt ® 7 fEvE wd anfeeiT e ik dwEfa @
T BT 81 ARt & A Sl SaAEd & g9 &
S B | AT s o gariT faee § g ik
il frgTi 1 Weequl T &M Hd |

10. Which of the following shifts are required to

make education child-centric?

e =t aTe-chfsa oA & fore f & |

e T &7

(a) From formative to summative assessment./
TS oAl § IS qedichd &1 37T

(b) From rote memorisation to activity-based

learning

o TRoT § foRar-amefia st & iR

From discovery learning to lecture method/

Gret Aoy § =me fafyr & e

From flexible curriculum to standardised
curriculum

AT TSR ¥ WHehhd UGy i 3T

(©)
(d)

Ans : (b) TAF  F  FAMGTH B GES g fwerer &
AL HEAT a3 AW T FHAEE B R
FAT A Hiegd T FHeard @ veiq Srerhl # s,
ygfet o ewarel F oA H el R ya= B &
T i T FEr 81 o hiwd R0 § AH
e &1 wed fear S 21 gHE Seie & AR
frieror ¢ sHa e HfeAEdl I [ B F O
fohar ST 1 oTet Hisa Rwror § s # v 3k
TR ArEars & fae % ER W R S 8
A AT o SFAEN 3 eAfthed H STHMIAAT & @&I0T &
R Sifgs oo, TSR aTesh, A Ao, ST
eI 3 o1 (M 6 ST 21 39 Wbl & f3en o
o TR & W W RNl AR HUer S 8
M e 39 fYRToT 1 ORg T |

9. According to Lev Vygotsky, facilitates

cognitive processes among children.
% AFIAN, Fqoell H HAHTHE

wishaneil skl ferder wremm & Qawar & ATt 872

(a) Negative reinforcement/dHIIHD WFH

(b) Competition/Sferifmar

(c) Language/Hmd

(d) Genetic disposition/3T & for=me
Ans : (c) OF TR &k IFER Tl H THFEHS
fspensdi s A % WeAw § gUEar & S @1 S
AT o 6 9 WE G, S U S=9 AEfgS
M Bl YA ST & | AEicehl G fGhE W
qo % FAE W SR 34§ Ih SEN, a3
frdem & fT g2 § 99 #3081 3T “HIf-wieHfis
g’ o, agmcehl 3 9 & 39 o & off gEE
fem o1 foh U aean SIS ®9 U G g9 &
U Tl T 21 A =0T o -
[IOTRTeR WTOT <98 aed §9R &1 37 arl & 9@ &
FH * forw deffa e 2
Torsft W sorg 31idRes §uR @ Hehfd s @ s ga
F=3 ge I R Fd €1 9% Wen 99 @ AReT 9=
¥ SEe @ U o 2
TR WTST : F8 9 39 Bidl 8, S f3of a1 o &
I 8 SN A AidRen Aol W & sed S 2|

11. As per
intelligence

FAE MET & Fleg oh o | Il o FTER
(a) logical-mathematical intelligence is the
superior-most form of intelligence.

Tfcher-Tfordiar gfs, gfs o ataw R 2
ability to understand the feelings of others is
referred to as musical intelligence.

TE H A B OGHEE HEar
g Feand 2

intelligence is of three kinds : analytical,
creative and practical./ g * @ JR § -
frveruTIeTsh, GoTes 3N AR |

each individual has varied levels of different
intelligences./@ =afh o9+ =9 ¥ fafw
YR F gfad & fafay w ffkd w #)

Howard Gardner’s Views on

(b)

(©)

‘T B G FH F I TF Sa-meETG o
&9 § gRuife frar @ R giesfas e § gaemnsi
I GHT H qedl & IcAEl B S &
ST Hehel 21 BTEE MER & 9N, S ug-

s & faara & e fafs yer & gfedl § affed
fomar -
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.mwﬁm wiRe et
o T o SAIARRS I
o 3FA-JAfHSH ® g

difehes TfoTedrr oﬂ?ﬁlﬁ'l‘cﬂ

TF AT ded § Wi & 7, o9 % & HWHT
e |
12.  Assertion (A) :/3TRT&Re (A) :

A teacher should encourage students to
verbalise their thoughts working on a problem.

T SreATieRT Y et et T uw | |AS

T A T 3 foreml & HiigeRteR ot &
faT gicaTfed ST =feu)
Reason (R) :/&TUT (R) :

Private speech facilitates
development of children.

froft ot weell & HEETHeR  faw @t
FUTRIA e B

Choose the correct option :

w& forsew oH:

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/ (A) 3R R) EE|
T € R (R) | (A) B EE e H 2
Both (A) and (R) are true but (R) is not the
correct explanation of (A)

cognitive

(b)

(A) 3R (R) a4 =& § df6T (R) , (A) &
e ST T BT &

(c) (A) is true but (R) is false/(A) &l & Wi
(R) Ted &

(d) goth (A) and (R) are false/ (A) 3 (R) Texd

Ans : (a) U 37U i fenfdar & frdi gmen =
F B gHT A e & Aigsie & fou siefed
FET AT Fife =l a= (9w) T= & G
foreprer 1 G e &1 9T I S F 9IS
foprg # meequl afteer framr @, a8 s=a 9 duES
OIS BT S ST FET BT & | Ao R % i §
fosfaa 2t 2, 78 T TR ¥ A9 A F STER
e W AR iR i g1 e amn atiaRe §eER
&1 GeRid w8 s g0 o= =g % ke & 8,
Ig T JH B ARG I H dge & U F |

37 AT (A) 3R FROT (R) A1 W& & T (R), (A)
! T AR HAT 2

13.

A teacher can counter prevalent social gender

stereotypes by

TIGeIgAT3Tl ol ¥ THTEE T =T Hehell &7

(a) ensuring girls play only badminton and boys
play only football in sports period.

T8 ghfa =% % 9a @ § Tl o
é@ﬁzﬁr@ﬁaﬁiaﬁﬁ%w|

(b) ensuring girls get opportunities to handle the
teacher’s register and help her. /48 Hfad
Fh % ASFRA I TS F TR W FW
A T A TG FH & 7AW A |

seeking the help of boys only in moving
furniture./FER 3ER T 3R TWga-  §
TSH I T

making all genders participate in music,
dance and cooking competitions.

Tt Sl ® T, J 3 e Sfaaiiarsi
F 9 o % forw e

: (d) TH STeAUR dfeld AT Siel weE

lEaEdel F T TR THEEH H T &

o SR R AR F WY TH GHH HIER HET |

o T H RIS i serEr &l

o uifl S # Tiita, I 7 U wen Afrnfiarei § s
o & foIT e

o - wfgag A fid T FA, 9 F aEH
F HAL H Gl ASH I TS H GHT YhE arelr
GECall

o TG BF &l forr 92 feu wft wffRmi § ==
el

o i TToh-cISihdl & 934 I HEEA - AL
T =T

M THR H TH AR St Goef wlgagaei &

TATFEA B Fohell B

(c)

(d)

14. To develop critical thinking among learners, it

is important to give ample opportunities to
faenfeiat & woTeNoTHe: o= &t a@rar 2
% foq wewegut § fe fmafafaa &g o=
TET Ye R W

(i) rote memorise the contentff%rﬂtlﬂ'{?f <hl
horefieRuT

passively imitate the teacher/3TeATUeAT o
Tafther oTgerur 2

corroborate different information/ferferer
TSI st g o e

to think divergently on a problem/fehet
THET W UERT feia s

(i) and (ii)/ (i) 3R (ii)

(1) and (iii)/ (i) 3R (ii1)

(c) (ii) and (ii1)/ (ii) 3R (iii)

(d) (iii) and (iv)/ (iii) 3R @iv)

(i)
(iii)
(iv)

(a)
(b)

Ans : (d) FUEEATES i et & e w5 geee
3R qedidd F § FEE BT 2| AT IS AT ThEIT
fofa & 3 e flg @ srEeR S | Rt &
TSR F & | FUIEEAES AT § A @ g fam @
SEAT 3N SFICART HET IR TH =N A1 SFIERIM Hhl
JYTYTIE HE BT & ®Y § S I 2| Tl
AT i i Jem@r a4 & foe qgeyet 8
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o Wu fomM % Wy Rl B W we F faw wafw
THR Y& fohar ST =iy

o fifgy SeREl & ¥ 87 T AW W&
foram ST

o frdl gHE W Ay fdda |

o 5T W &I faftm gfemi & @

o ThHETT &Y ¥ R wth il & o difhes dew
AT

o FE Il § U Y agH & forwl
o 3T RSN faveivvl, g SR SFIHH TH F
feral

In a constructivist
empha51zes upon

é—aﬁ%7 HeT |, FeAMYhT forT W ST

(a) Formative assessment/TaIHeS Jcich

(b) Standardised assessment/HT eI Heieh
(¢) Norm-referenced assessment

(d) Summative assessment/JHF e

(a) T T FRN § Th e Eaesh
oAb TS I 21 e @ﬂ@ﬁaﬁmﬁgw%
32T Y 21 TehA H, MG B 3 ST B H Th
e 21 AT et et ot witd § gEuR &
& fore fyreror efiv st ot nfafafert o Genfa #9
fw sferm & she % dwm fweml gw eI
fITaRes 3 eri=ie gedis Erfiwaﬁﬁqma@w
%lﬂ%w@@ﬁﬁmé%ﬁﬁt ¥ R
S 21 T8 fendf 9 sravasae % aR F s fEn
A 21 forers A 98 guge # off wag o @ fop e
O # wam @ 98| 3, U GlEEEe e H,
G (W) Jedid | SR e s e
Fifs a7 fows @ et &t dwa & wfd @
forfierr 3iiv fargeior & & Heg & 21

16.

15. classroom, teacher

Ans :

Inclusive education requires elimination of
multiple means of

T Tatan W E R
T et <t B

(a) representation/ﬂﬁjﬁw
(b) expression/3THAE

I Tk S AT s ffm geyfr it sterT-srom
AT aTel B U GHESN aeN] § s 91 9iad 21
Wﬁmwm%mwmﬁq@a
ghfyd & & aR | 2, S e fafay stavassansi i
gl €7 9 UH W@ 9 YfafharEs, e, HHEsHS
aﬁmaﬂ%ﬁww%%wﬁmaﬁ
[ Tk R g A € e gt gmEsh e
W%ﬁﬁaaﬁﬁ%ﬁwmwéﬁ%

17.

In a classroom having students from diverse
socio-economic backgrounds, a teacher should

T UHt wen W ey fafqer wmiaes- snfiie
gftavht o ferameff s €, we ereafuedt @t o
SHTAT =TT ?

(a) set and maintain low expectations from
students belonging to subordinate

groups./3THTs IEl ¥ wdftm faenfdei %
oY, s 3TUeITd ST 3 S| T

use inclusive language such as ‘our school’,
‘our class’. AT f& ‘gum
foremerr’, ‘GAT e’ T SIS HTATI
encourage sense of alienation among students
of dominant groups./Jdcl Heiferd
ferenfefell & sterma & wrEAT I QAT

strengthen  stereotypes and  inculcate
stereotype  threat among students of

subordinate groups./3T& % T Hefea
fornfefl & sm # g F agEr I iR
wfgare 99 der &)
Ans : (b) T% ®&n ¥ fafae gmfSre-enfds afast o
fornelf o9 21 ww sremifUen ol ol ¥ gEEe
FATERTT S AT HT Ghell 8-

o Tl & A & WA I AT B aTell T

(b)

(©)

(d)

wfedl it faaml @ e &

o THEIN Wl S¥ T BEN fame®’, T wer &
WA HEAT|

o 3IX I BEI & A Fa F A Afdwar W
GHf BT T H H TR I |

o TN T I T IRFRS Jeu! B HHE |
o M H awal & WAl F fafawd B wfrd #X
o 3IF UW HWE WM H W& o N aaue fufq @

. ML 3T Teh 3 3T ST TR B T |

(c) engagement/HeTT=dl . . . !

(d) discrimination/¥=d * ﬁmﬁﬁ%ﬁqﬁ N if ’ qmj?aﬁ SR e
Ans : (d) FuEh R 95w & fafqy SRt & e , . s
T T T 31 T R & o # 5 w o sufem| || © O ST WBER AT R FHAA RS fear
@ﬁ%ﬁmm%@—vﬁmmmmﬁﬁ il
Feqr3Tl | I9h1 @d fRar Srdr é aﬁ( % Shiga||[18.  For successful inclusion of students with visual
¥ gf tlgqaﬁ I GrEd, aeE A ﬁ; gq-m o F T impairment, a teacher should
Wﬁmw%ﬂﬂﬁ?ﬁﬁms@raﬁﬁ% g9 T gy ferenfdel & Wwer @uEvE %
e, T, A Sl TR A R iR AT 1 T HEAT e
fesmeT s & @ Toff 3@ T$ 99 9rg 3R 9 o (a) use pictures to explain the concept./3TTEON
gaaeh REn s e g % "R § @ SR, # = & fou fEl &1 @ S AR
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(b) verbalise all written materials.

aoft yeR 9 fifas ambeEl # Afes w9 9
T ST AR
(¢) use a lot of gestures while talking./fareff &
I FA THT T B G S HEAT AR
(d) provide subtitles to the videos being shown./
ST @ difedt & Iuefids & =nfew )

Ans : (b) s¥eTf fFenffl % gva gHEYE & fou
eI & el fa gfaend e # s afee-

o i R # fafen gmiEl # Hifes ®7 § T
FHET|

. wg@wwwwﬁaﬁwéé@
|

o E-udl B g TWS IR NeHEA favgas waw #
g S =R

o 3% TN I Ugel Uitk § s ST =Tl

o TR T F} famaTRg F YA

o IHHER TG N A IH T F ST

o o fommT IR & ST

o U i gl w1 ITHM FA AfeT B I B W
3N TEgH B TF |

o Tfa® THF BN IUAN B A FFHRUMT 3R
T 3T d% |
o Y I HIGA 3R ITFR F URUTHI T Fodish B
& T T& omER W@ wifd #1
o fraftm ufigfe wem e o forndf F eiferm &
g & TR B HH HEAT
‘Dyslexia’ poses direct challenges in
e T W R 8§ e e
Y 772
(a) comprehension of written text
fetfaa fomeraml & oy
coordinating bodily movements
it nfafafeei & gwaea |
understanding others’ feelings
I rER H g §
(d) drawing pictures/f3 Rl
Ans : (a) ‘TSTdHcT T &Y ¥ fofed fasmmmsh &
ate # T Gar B @) feelfegar dan e § @
aclt Hf3E & S Tgd § fegwa, foraw i ad+ i &
TEst 1 EROT A ¥, 9 afe @ v @ s
21 dft, s 49 3R I Il ferad €, S U e
A feaffadt 21 98 SR St # g @ 3R Fawh
g e g1 TaT T = uT 2 |

20.

(b)
(c)

19. In order to successfully include students with
Attention Deficit Hyperactivity Disorder |27, Ty facilitate effective and meaningful learning,
(ADHD), a teacher should a teacher should adopt pedagogies which are
EATAIAE Wet SAferafshaat e (ADHD) Tfe wuTETelt S srefgul arftnma & feg sramUew
ferenfefat o ARt TUTEIE & g 2reamues <t = fFE TER W Remmrety gfakel @
T AT A2 TEAHTCT YT =T ?
(a) maximize distractions in the surroundings (a) culturally relevant/Hi&hfas &9 ¥ T
" il 31 i TWZ &l “EW Gakl E”?E (b) standardised /AT
give lengthy and complex assignments . g
(¢) exam-centric/TOeT-hi~sd
() helpﬁsiuj?rfs q:)Tﬂrc:\r‘ilop TES -management (d) behaviouristic
and organisational habits Ans : (a) THTTECA A Sl 3 % for sreamss
et 1 T S o e e | [P Sps ¥ o  sfafel s s w
¥ fg ¥ TeEA S TRY | srefqe sferm & A off e % O e &
(d) teach using a fixed method and routine 3 3ﬁ§ & ¥ TG T A ik 3 &1 7 o
T ¢ 5@ foenedf wfhy w9 § Pt ok At § @
el fafi ot foreel 371 S F B (o 31 o @ o § P st wbe @
RTT e =T P 01 % fow W W AW AW % 54 adw A
Ans : (c) S FHATM [GFR (ADHD) TS aRass|| [t Sicqfed e =ifRe aifes 3 starone & gt @1 9
fopR @ S 39 e 3,954, ReR T 3R 379 aeR| | [9He w6 |
& fEfa +9 % Td% F Swfad & 21 (ADHD) §|[22.  Which methods of learning are emphasized
IRy Tt o g% guEsH & fu steamgss @i it upon by National Education Policy 2020? .
fRTeT0T TOEARRET BT STENT T AR qﬂgﬁﬁggﬁZﬂZﬂm%iﬁq—ﬁm
* 3 il W;;HHT-T R e & (a) Experiential learning/3TJ¥dTcHh srerm
‘ HTI%‘E | (b) Digital learning/fSfeer R
o Fr 1 BB WA H e W clfeh SFeqee fTet (¢) Scientific learning/é?ﬂﬁ‘lm e
e &5 T ot @ § (d) Learning by doing/&%h T
o TH Tl USIHH o, guak@r off ol @ @ (i), (ii) (b) (iii), (iv)
Bl (¢) (), (1), (iv) (d) (@), (i), (iii), (iv)
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Ans : (d) T8t &1 & e Hifeai 1968 3R 1986 @t &
9T ¥ fae # 2| $E FHiHsa 7 qRdE R sorer §
FT e dH & 3299 ¥ 7% TP Rren AT (NEP), 2020

B a1 S Ren A 2020 SRe wwg i
ity aRoml # ER W SR A 2 @ a= 3T g iR
PIOTA B afGH e § AR B GH| (NEP), 2020 |
e % fret ol W ae & 8-

o  ITIETCHS AfeTH

o fEfSea atferm

o axilies e

o F&H HEG

3d: I8 IR & (NEP), 2020 & 3R # TF alisi ™
o2 3t 21

23.

Teachers should facilitate the acquisition of
learning strategies by students. Which of the
following ways should a teacher utilize to make
learners more skilled?

areATUeRt @i faemfdel o ot givwal
I I GIW-TES HEAT T frefeiaa ®
A RA-W TlF o1 gemmer Rranft @ s
IV ST oh fTT feRam ST weheT 77

(a) Exposing students to convergent ways of

thinking. & fdaT & e ol
¥ T T

(b) Helping students to set unrealistic goals and
timetables.
THI-TIferRT o § HaR FTH |

(c) Promoting  self-questioning and  self-
assessment among students. [ § =
T T FAT R E-NHAT T F |

(d) Encouraging them to focus on what is not

relevant./Sil TGRS & 8, 3 W AN Hiwsd

F % T Searfed F31
Ans : (c) eI 1 i & sfrm gieal & s
F GH-Tes H Afew| fFafiE & = ¥ 5w s
3R -3 AT o TRl @ st sterelm
T4 % fou fFar ST s @1 gud RwnfiE & s
Wd % YA F b FH H HerEd e 21 T8
S Rl & 3T I9 dTE @ v w4,
39 Hiad & WHEIfT S 3R T g9 F e T
SUHT % &Y § GeAish B YA B H qGE HIAl 2
Tor B 9 ol # w1 peam § ik gfs & )
24.

To become effective problem-solvers a teacher
should discourage use of among
learners.

ATt AHET-HIE e g % g
JeATer i renfdfet # fwEer s@wT @l
FalcdT g Sh{AT =Mey?

(a) response sets./3TfhaT =TT

(b) algorithms/&er--fafer

(¢) heuristics/37T0T (GIST-a)

(d) analogies/|THITIA

Ans : (a) JHEUTCH THE-GHEE $RH BT b [
ST H et § oFfe W & WA &
EACAIRT BT TET| U 31 & &9 H, s=ai i o
¥ 9% 84 # #Weg &9 & U gHeEr-guee &
GRUTSHS T MEESH ¢ 1 T B & O, T e
1 faafial & =S & favamo &3 # ened fosfia
A & U Aeafed s Tife @ifs fernddf @ds w9 @
U H GHEE T |

25.

Which discussing the sources of water, Rani
responds that ‘tap’ and ‘shower’ are the main
sources of water. Her response represents

TS o Eidl o SN W ool o gu I SO gt
g ‘e oiR ‘wem’ Ut & g e #
IThRT IR TeREeRT Ffar-iere shiam &7

(a) her understanding formed on basis of her

experience/3Tah THH S IFh STATAl h

MR W A R

her low interpersonal and intrapersonal

intelligence/39&!  f4=1  3ia:

siqdafhes

lack of motivation to learn a new concept

% sfaERoT e & forw sifimrom w5 s

higher order problem-solving skills

I W qHE-GHEE

Ans : (a) T 91 @qﬁmaﬁm—w%ﬁ?ﬁﬁ

S H SEATIRAT I A B VA F g I@d g qgn

9T & SR fREET g @Al § weER g e

TEdt g1 o 59 FT H A & @Al b a) F ==

St @ @ T ST9 SIS % SER W S ST T

YA A BT A€ IW ol ¢ fF A iR weaw wHt &

T A &

26. Which of the following is not a part of
metacognitive skills? i) —4r
ST IV ST TTT T& &7
(a) Planning/?ﬁﬂT-lT
(b) Monitoring/FadeoT (wi-tefim)

(c) Evaluating/qeaieh
(d) Passively Imitating/ftha 3TIRTTT

Ans : (d) TREIETES Hived § e & s 3ik

Yauia F I B F W SN g1 T & Wy

THAMER ST S & 9% 81 59 g9 o1 e

% WA FE W R R § @ I s

Fel W 21 SIRETE BE % e # e s @

IR R R wE F FEfewaet | R @ 2

A-TFHES WA § guer & gd a ¥ @g #

oA Hh ST GER WA ¢ STy S

(b)

(c)
(d)

gl
Eill
H

7 fafepa F g WH T g e AR W
T FE T H &I T 2
27. Which of the following statement about

emotions and cognition is correct?
qraTett i w9 % an H o ¥ | wie -
T HIT TEr 7

CTET Class (1 to 5) 2022 (Exam date 4 Gardt, 2023 SH-I)

38

YCT



(a)

Interest and curiosity to learn are not

related./3e ™ % IIRIE] 3R o e

Haifer i 7

(b) Learning is about cold cognition of
reasoning.
SIferT Aifhehar o ST WY % AR H B

(c) Information processing skills are influenced
by mood./STH&RI FgT
R TS B 2

(d) High Ilevel of hopelessness promotes
cognitive competence. 9l 3=a T

Wmﬁwm%

%IW@WW%ﬁW,ﬁH,ﬁH
2| Y, ova IR M & wem ¥ =

srfam%wmaﬁméﬁsmﬁﬁsmmh@ﬂ@#,
% T, U B A R T ¥ AR 9%k g4
Wﬁ%ﬁﬁ%@ﬁ%ﬁﬁ!ﬁﬁ?ﬁé T H OIS,

To keep students motivated to learn, a teacher
should promote

ST % wht sRHRe w e
& for amlwaa aﬁ T WHAT ST A2
(a) mastery-oriented goals/fUT-3=gET T
(b) entity view of ability
T BT Hea/ TS AR
learned helplessness
SEETIAT 1 Hm g37 9
(d) competitive attitude/SferaTTeES gHHOT

: (o) fomal @ efrm & iy PERT =0 ® &
fere vy @ fqoTr- i feiRe T &
IFER S 3R P # fgoar w9 o @
&9 ¥ qRufeq fmar e 81 frndf U Feer s #,

F & forw, e I @ S W A BT Hd

IEHT 37 FARBAT BT UM HLA
%émmw%ﬁam%

Which of the following factor
children’s success in school ?
feremere & seent ot Ao ¥ fr ° @ wE-
| T ST S hidm &7

(a) Flexible time-table/a=elt THI-|RUft

(b) Constructive pedagogy/HCa-Is Rrememe
(¢) Rigid curriculum/F3R =4t

(d) Assessment for learning/3TeRTH Y i

Ans : (c) foamea # a=ai #f I ¥ FHIR U=l
T S AT 2| A I R A AR S A
F G B GHAT H TFET 2| TeEE TE g Tl
S Sl Sl TEAIHST B ST 91 & g1y 8 el S
F fau gefed &1 HfeT ugT=at ¥ = % ARy
GHAT HH 9T Bl 21 37:, 89 %8 §ohd ©§ [ Th
FIN USTTA BEI % ARAH F a9l Iqd L Ghdl 7
g & fomre & ghaar § ff arer 3c S gt 2

(©)

29. hinders

30. Assertion (A):

AT (A) :

While teaching a concept, it is important to
connect with everyday life of students.

fereft STaemuT @t WHET TH 9g WETduul §
for fawoerg =1 faenfiei & fem-vwfafew &
S & Heier T S

Reason (R):

T (R):

Learning is most effective when done through
rote memorization.

ST oA TRTuT o HIEaW | Sgd THTavmett
e &

Choose the correct option.

w& forsew oH:

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)/ (A) 3R (R) gl
e € i (R), (A) T T AN F B
Both (A) and (R) are true but (R) is not the
correct explanation of (A)/ (A) 3R (R) gt
T8 ¥ AR (R), (A) F T == 78 8
(A) is true but (R) is false

(A) F&I & ©feh (R) TTerd &

Both (A) and (R) are false

(A) 3R (R) ST e &

Ans : (c) [l STIYROT T THT THT I8 Tl ¢ %
ferseraeg &1 ferenfefell < famr wfafem & Sfem @ dey aamn
ST e a8 STaERon My e W STE R ST e
I HUT (A) T B qd AR oo & Aem
g T T S 1 Hifh T Yo F e b

(b)

(©)
(d)

e Sftae § Su & fehar S ekar 21
37q: HNOT (R) TTeid 21 39 TR 5 (¢) ST S 2
Mathematics/TfuTea
52,
1. 3 is equal to
S g
2 5
1 1
(a) 2B (b) IOE
1 22
(c) 10— (d) To
Ans: (a) ———
(2,5 & AOHO = 10}
_25-4
10
_ 2l
10
oL
10
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2. The sum of the greatest S-digit number and the
smallest 3-digit number is

5-37ehl ATt Tod SEl W@ AT 3-3fehi arett

FIE BT HEAT T ANTHA §—

(a) 10098 (b) 10099

(¢) 100098 (d) 100099

(d) 5 37T I FaH T G = 99999
3 3l arell I BT @ = 100
3 AT = 99999 + 100 = 100099

Ans :

3
3. How many pieces of wire of length 1 meters
each can be cut from a role of wire measuring

1 1l metres ?
4

ni HreT W AR % T A A 3 et o
AR & feRa T w1 I Tehd 8?2

(a) 15 (b) 15
(c) 12 (@ 11

Ans : (a)qssﬁaﬁar{ﬁm:nilﬂam$
o

FE I At ZHS! A WA =

-Mw|4>\&

45x4
3x4
= 15 z#2

4. (13 hundreds + 13 ones and 13 tens - one
thousand) is equal to :

(13 Er+13 TATE + 13 TEE - Teh &R ) K &
(a) 333 (b) 343
(c) 443 (d) 453

Ans: (c) (13 T + 13 3 + 13 T@E - TF &9N)

= (1300 + 13 + 130 - 1000)

= (1443 - 1000) = 443

5. If 0.239 + 2.93 - 1.29 = 3.92 - k, then what
should be added to k to make it 3 ?
e 0.239 +2.93-1.29=3.92 -k, &, @l k & &R

T AT foh I 3 o sWIe) & w2
(a) 0.995 (b) 0.949
(c) 0.849 (d) 0.959
Ans: (d)0.239+2.93-1.29=392-K
3.169-129=3.92-K
1.879=3.92 K
K=3.92-1.879
K =2.041
T K 8 x Siig W 3 & seR @l S|
x=3-2.041
x =0.959
3 K =3 99 & & 7T 2.041 & 0.959 ST gem|

6. What is the sum of the smallest common
multiple and the biggest common factor of 60,
72 and 84 ?

60, 72 AT 84 o HH SIS WA OIS 3R TaId
oY W UHET H AR FTE ?
(a) 1272 (b) 2532
(c) 2508 (d) 2544
Ans : (b) 60, 72, 84 F TaH BT WS [LCM) =

60,
30, .
15, 18,
15,

o
=

7%}
=8
.
r2

—

—_

=1t | L [ a2

bt [ [ | n
Ll e B e IR I S o]

LCM=2x2x2x3x3x5x7=2520
60, 72, 84 F1 Y TT WE UHEUE (HCF) =

60)72(1
60
12)60(5
60
XX
12)84(7
84

XX

3d: 3E IR = 2520 + 12 = 2532

7. Rama has only Y50 and Y100 notes with her. If
the total number of notes she has 25 and the
amount of money with her is 1600, then the
number of 100 notes with her are respectively

THT & U hael T 50 3T 100 & e € i
Ik UTH FIEl Tt et WEAT 25 3 T 1600
o ¥, a1 38& U T 50 3T T 100 F et @
T I € -
(a) 10and 15/10 3R 15
(b) 15and 10/15 3 10
(c) 20and 5/20 3 5
(d) 18and 7/18 3 7
Ans : (d) W1 250 & AIET # G x &1 a9 100 &
e H G = (25-x)
TYAER,

50x - 100 (25 - x) = 1600
- 50x + 2500 = 1600
50x = 900
x=18
100 & Tt & G&M =25-18=7
37d: T50 3R T100 & Al F T FAI: 18 HR 7 7

8. Savita reaches school for a meeting 15 minutes
before 9:30 am. She reached half an hour
earlier than her colleague who is 35 minutes
late for the meeting. What is the scheduled
time of the meeting?
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wfear feeme™ @t T WSt W 9:30 am ¥ 15
fime et e o ot weeRdf @ emem w2
Uget ugelt, S R 39 MEt & faw 35 fime @t
T ¥ ugsh @ M @ Fraifa wwer w=w o ?

(a) 9:05am (b) 9:10 am
(¢) 9:15am (d) 9:25 am
ns : (b) ST &1 foamera At ML § WA F A
=9:30-15 fie
=90:15 am
el & femerd wged & wHa = 9:15 + 30 fime
=9:45 am
3T: TSt S THT = 9:45 - 35 fire
=9:10 am
9. There are 28 rooms in a school and each room

has 6 plants. Each plant needs 180 mL water of
water daily. If a bottle contains 840 mL, then
what will be the number of such bottles
required to water all plants in the rooms for 3
days?

foredt femerr 28 T E iR ydm w6
o §1 yde Wi & fam wfe fe7 180 mL
Tt I ATEITRAT §1 TfT Uk oided W 840
mL Ut 9 g3 g, @ U feRat saat &t
ST ehdT BT, TorEd At & |t dien =t 3
e it feam < wes ?

(a) 108 (b) 112
(c) 115 (d 118

Ans : (a) foameT § A0 & 9@ = 28
T W A 9 =6

28 FW § ot Tl T T = 28 x 6= 168 U
% Y o foIu ufdfed o & sereEedr = 180 ml,
= 168 UEl @ A U # STEavaHd=168x180 =

30240 mL.
T aidel | T AT = 840 mL

A 30240 mL. T T = ﬁxsomo

= 36 9iqd §
1 f& e &1 g 3 % foT a9 = 36
I 3 fo dtel &1 ol 29 & AT siad @ ey ge
=36x3=108
10.

Perimeters of a reactangle and a square are
equal. Perimeter of the square is 48 cm and the
breadth of the rectangle is 4 cm less than the
side of the square. Then, the area of the
rectangle (in cm’) is

T 3T X T ot & URATT sRmeR g1 ait
T URUTT 48 WX 3R maa =t <ieE
T @ GO W 4 GeEfier wH ¥ A9 omad

asTthet (ot |eidied # ) 2w -
(a) 128 (b) 96
(c) 256 (d) 512

Ans : (a) 3 & 9RAT =4 x 9T
48 cm=4 X 91
a”faﬁ‘ﬂmzucm

Waﬁm:aﬁaﬁ‘ﬂm—4:80m

3T HT YA = 48 cm

2(£+8)=48
{+8=24
£=16 cm

37d: 3T & GT%hA = [ x b

=16x8
=128 cm®

In which of the following, the number of
degrees is 25 more than 440 ?

f= o @ o, fefimn ot " 440 9 25
atfre € 2

(a) Five and one-third of rlght angles

g 3R Th-fiers s

Five and two-third of rlght angles

g 3 A-foer T

Five and one-half of rlght angles

ufT 3R UH-3TY wHAI §

Five and one-sixth of right angles

Ui 3R TH-Seie SR H

11.

(b)
(©)
(d)

ns: (d) [54—%}(90
= ﬂ><90
6
= 31x15
= 465 .
3 465 § FERMT & G 440 § 25 3R 7

12. The number of square tiles each of side 45 cm
required to tile a floor 6.75 m long and 4.5 m
wide is -

6.75 cm TS qAT 4.5 m =TS WI w45 cm
O drefl TR eEe | Ul e e &

feTu, aTmavae 2rEel St e e -

(a) 120 (b) 140
(c) 150 (d) 180
Ans : (c)th'iﬂt ! A@E = 6.75 m = 675 cm
w3 # =EE =4.5 m =450 cm
Y FETRA = 675x450
=303750 cm
w3 80 F T F AT 45 em G AR AR A
& G = 303750
45%x 45
= 150 18
13.  Weights (in kg) of 21 children of a class are

given below :

45.2, 44.8, 42.5, 44, 46, 43,
46.8, 45.8, 44.4,47.3,49.2,
52.2,47.8, 54.4, 50, 52.1,
50.3, 48, 49, 46, 53.5
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How many children have their weights between

45 kg to 50 kg ?

fereft =merm o 21 ool & W (kg W) = fou

TR

45.2, 44.8, 42.5, 44, 46, 43,

46.8,45.8, 44.4,47.3,49.2,

52.2,47.8, 54.4, 50, 52.1,

50.3, 48, 49, 46, 53.5

feRae Toeit a1 WX 45 feRam. & 50 feam. & fi=r

" E?

(a) 8 ® 9

(c) 10 (d 11
Ans : (¢) [t &enm § 21 S=di &1 WK (Kg) #
45.2,44.8,42.5, 44, 46, 43, 46.8, 45.8, 44.4, 47.3, 49.2,
52.2,47.8,54.4,50,52.1, 50.3, 48, 49, 46, 53.5

45 kg @ 50 kg & g sl 1 HEAT
= (45.2,45.8, 46, 46, 46.8,47.3, 47.8, 48, 49, 49.2)
=10 =4
14. The following table shows the number of
vehicles sold by a dealer in 5 months :
Month No. of Vehicles sold
January 225
February 318
March 272
April 180
May 178

Total number of vehicles sold by the dealer in
January amd March is less than the total

number of vehicles sold in February, April and
May by
T arferemt ek forshar g1 Oier W& H OO
W& o T TR ki HET
KECH 225
Tl 318
T 272
e 180
w3 178

TrehaT BT et 3T /el § o T et ot
HA W&, WA, WA iR wE # 99

TTEAT ht He G | feRerft ww §2

(a) 178 (b) 179

(c) 180 (d) 181
Ans : (b)

foshar g0 SHEd 3R W # 99 M 9 ) ga e
=225 +272 =497
fershar g0 wadl, oTid R wE # 99 T A # FA

15.  Observe the following pattern :

1+2=3
3+3=6
6+5=11
11+7=18
18+11=29
29+13=42
42 +x=y
What is the value of (x +y) ?
forer et o1 araeiieRT St -
1+2=3
3+3=6
6+5=11
11+7=18
18+11=29
29+13=42
42 +x=y
(x+y)RATRTE ?
(a) 72 (b) 76
(c) 78 (d) 80
Ans : (b) f&a T e fretad 8-
1+2=3
3+3=6
6+5=11
11+7=18
18+11=29
29+ 13=42
42+17=59
Ad: x=17d4 y =159
(x +y) sl "9 = (17 + 59) =76
16.  According to National Curriculum Framework

2005, at primary stage, teaching and learning
of mathematics should include activities that

T UTeTEt wUR@T 2005 % AR, WA
T W e % Rremr wd oesRem A U
wfafafrat aftafaa st =y -

(a) have only didactic involvement of learners/

TR &

are based on open-ended play

St A faTeat aret Tel Wi &
proceed from concrete to abstract

S & s A aR A

involve maximum intervention by the teacher

o frers gr0 Sifiehan gwey ot &

Ans : (¢) TF TeT=al ®9 W@ 2005 & FER Mafi®
W & fopeft off wgEsw & o ¥ omd &Y 3R F@r S
TRT 9 F O F S B e IHIE g1 AR
forercft wenell & o8 wewgyf € fo geet =T # T awgad
W e Tfafafiat & ST ReE s 3 2 Sea
' difehes fohameT g g fiaa & o9 deei & g
% AEF a7 G|

(b)
(©)
(d)

@ = (318 + 180 + 178) = 676 1. 7d ¥ 3 AR 2. WA H BT F 3R
=676 —497 =179 3. 3aT § fm & iR To fafer anfe
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17. When asked to identify the greater number

from 7.37 and 7.4, a group of children
answered that 7.37 is greater than 7.4.

As a mathematics teacher, how will you
support the children to rectify the error?

I 7.37 AR 7.4 W A o G UgAHA *H

for ke T, A9 SeEl o Uk WUE 3 7.37 &l

7.4 ¥ 9t W& Sar

T TTe f31eteh o wO H, 3T See ol qfe

T & & o FE gwedT ?

(a) Use manipulatives like abacus to explain the
place value system to represent decimal

numbers/S¥MAE GES H RT3 &
T o 7 9 qUTel @I SEE (TIE)
STt gEAhIeTel gl % SUANT § YHEET)

Write expanded form of decimal numbers on
blackboard and ask students to correct their
answers/a¥MAd S & THIRG ®T &I
vamug W fafgy ek el & et sw
e & fou sew)

Give more examples of similar type to
practice/3T9TH % T ¥ YBR &

3SR AT |
Ask students to refer the textbook and
understand the process

G % oI 3R ufsher wHEH & forg siRu)
Ans : (a) S 7.37 3R 7.4 § § < G AT &
fore areal &t faam o @ s=dl & W 7 7.37 H 7.4 °
I G IAAT T I F FRU ¢ B T qwHeAT H
W 7 T GEEER 91 G SEe o @ 8
o TH RIS B Ime S & Fefd w9 &

(b)

(©)

(d)

Ans : (b) TIfH TR W FeA-11 & faanedf F 9 & e
1 3 JHR gA |
5128 +2707 = 78215

Ao 39 I B I HA § fonedf o weEa FH &
fore waffers suges faftr & fo fenef @ wfme T &1
ST FHTH AN JA F AT IW H A B & AU
FT |
I :- 5128 FT GES AH = 5100

2707 I "fshe AH = 2700

5100 + 2700 = 7800
39 7800 & HiFhe HH IR &I -
TE W -
5128
+2.70:7
7835
19. Which of the following represents the most

appropriate use of Tessellations as a

pedagogical tool in primary classes?

U | -1 Wreafires et o, Tk
TTeruT & |eE & ® § T (Sl &
Hod IUTH SUANT i wtar § ?
(a) For developing procedural learning in
geometry/SAEfT § fpanfafess  sifermy &t
forepfed e & fore
For measuring of angles/ﬁﬂ'ﬁ H A & foaq
For creating patterns_ using geometrical
shapes
T o fom
For developing the concept of place value/

T O 1 FFERT R [FHT F & fag

(b)
(©)

(d)

fau s S gl # e d S g 9
% YA S SYHAT & THFH Hl T |

18.

A Class-1II student solves the problem of
addition in the following way :

5128 +2707 = 78215

Which is the most appropriate strategy to help
the student to identify his/her error?

weT- I o femmeff 3 = & woa =¥

Trfeiad yer ¥ et fehar :

5128 + 2707 = 78215

Ut JqfE i A w W foremef @t wEEEar

& o T waifes Sugh givh wA- ¢ ?

(a) Ask the student to check the answer with his
peersffa’iﬂ?ﬁ F IHH W A j
T St & fw w8

Ask the student to use approximation to find
the sum and compare his answer

foreneff &1 Tferpes &1 ST Hh AT JT R
U IR P T FH F T e

Ask the student to check the answer by doing
the question once again/d34 FXh

faranelf &1 379 S S % T &

Ask the student to use the calculator/fermeff
F M (FeFAeR) H ITAM F F AT F

(b)

(©)

(d)

Ans : (c) TS Feel ¥ UH RO F A F w7
PEfeITE  (TRRAT) B WO 3UgH SUAIM S
i & ITET ¥ Jed s & forw fehan smar 21
M- ST (Tessellations) 1 3794 8 6 famm =g
el S BT foAT A1 el W9 fhy fomr R wae &
T Sl THAC TP ¥ WAl 37 T il & Th
Ged & ®q § GHI ST Ghel & S 64 HAg Sl @h
T TH-TR F I 7 W@ ¥ IS S 7|

20. National Education Policy (NEP) 2020,

envisages to reduce the curriculum content in
each subject so as to :

wsta forem fife (NEP) 2020, v fauar o

eI wht fava-aRg it A i W faem

T @ ¢ qs :

(a) Improve the scores
examination/ade # feafa
EW S 9|

Improve the performance of slow learners in

the class/®em H it wft ¥ diwq am
el 1 wael guw ST W

Reduce the burdent of teachers in completing
the syllabus/Tresh H T HH § s &
TR T F R ST TH

of students  in

H IRl R

(b)

(©)
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(d) Move students away from rote learning and
towards real undestanding/faamsf wat Hw=
T 37T ardfash A 3R TG |
Ans : (d) T¥F frm Hifd (NEP) 2020, s&s fowa &
UIGSEHA 1 o] b B e W R @ @ A
fereneff Tea die @ S1er ardfas qwer # AR a3 |
NEP-2020 & 3THR
= Tl TSR & A § FHI, 3R ¢ g AN qen
TR YR & 99 wAEd 7% § $ied | A R
T SR & Y- T B qSAgwH 7 off agad g
TRl T ued TEd § T TR W wEaqul 9
S aTe oTavas got Sl (IEf, favemu, Seewo
R ST % W) W HET G
According to National Curriculum Framework

2005, mathematics teaching and learning at
primary level should focus on

T|UET 2005 % JIER, WTefhen
W U Tt forereT Sf St SRy gMT
e

(a) memorization of procedures

Frifaferd i Sty HH W

mathematical games, puzzles and activities to
introduce a concept/3TTERUN & =TT 3 &
fow wftrfr @, wefedl e fafafeEi wi
rote-learning  of  multiplication  tables,
counting, etc.

TRISl, UM e & -3 9|

solving many questions based on a topic so
that students can learn the correct method/

FehU0T (STfeh) T 3enRa 2 T H g HA
R aife foandf @@t yomell/fafy d 91
Ans : (b) TS TreT=@l ER@T 2005 & IR NAfHH
TR T & R 3 SR sraunn & 9RkEg o
% foru nftrder @i, wRferal we nfafafeel w S g
RN

21.

(b)

(c)

(d)

23. In order to help students distinguish between

plane surfaces and curved surfaces, which of
the following methods is most useful?

A gui 3R ok gsi & sfter ofa¥ & o

forenfifat &t wee ¥g Fafafaa & @ s

Taftr watifires Sl &2

(a) Showing them models of curved and plane
surfaces/F9dS Td a5 goi & AISS fa@mT|

(b) Showing videos of various surfaces

fafm gt 9t difean e

To show rolling and sliding of 3-d objects

like sphere, cylinder, cube, etc., using a

plancmﬁwwmng

T Y A, o, T T B JEheR

S FRgarR Faffd

Drawing shapes on the blackboard and
classifying them as plane and curved surfaces

TIMUZ W A F T N STh THA
TRt 3R o5 Bt & ®9 H i ST
Ans : (c) TGS JUi N THYSl F o R HH §
foenffelil = #e= g wEifvs WA fafyr ws wet @
I X g Aferd awgei 9 mer, doF, w1 e
T b IR g T=fRfd S
Y- N T TaE THAA Tag eIl €1 S, e anf
F e THEER B
24.

(c)

(d)

The most important thing for children to learn
in primary class mathematics is "how to learn
mathematics". Which among the following
is/are substantiating the above statement?

seal o fow, wrafier wem & T, H,
waifies wewaqut § fof o 9 i S
" frefafad # @ F-91/A SUWIh R
THIT /TR B3 ?

22. According to National Education Policy (NEP)
2020, NCFSE stands for (a) Students need to wait for the teacher to tell
'{Tg'h?f o1 (NEP) 2020 fifer e JER NCFSE them how to solve a particular question
(TEH TR TEE. ) & Haed § - fSrers g0 ¥ A 9= & fow 5 R
(a) National Curriculum Framework for School YER & T B FY g T 7, et i
EE ducation i ST S I TR 2 |
) 4 ) R S E (b) Students need to go through the solved
(b) Is\laﬁloriallidcumculum Framework for Pre- problems and remember the algorithm
2enoo uca“"ng : ferenfefall st gt fbu T el W SR e §
) S Cﬁl{ﬁ’[—@?{t{;. I FH SN FedEy B AR B S
(c) National Committee for School Education/
Hdt o AITIHA 2 |
(d) National Committee for Focus in School (c) Students need to focus and value highly on
Education/=¥Md HHT B Hihd =4 A understanding the procedures than just
Qggla\;m accurate reproduction of learnt procedures
Ans : (a) UE@ fRrenm HfT (NEP) 2020 & oTHR, GRULEINE I W“aaq‘ 5 Wi
NCFSE & @ %M National Curriculum Framework E‘; FE H 79T Frdfefeed # T WA
for School Education @ foraesr aref @ “wheft faren % fordr Hxd F AR ST A A A STATEHA
TH qroshn R’ 21
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Choose the correct option :
et forehea &1 =T HINT
Only (a)/éﬂa (a)

Only (c)/é)"o(a (©)

(¢) Only (b)/Haa (b)

(d) (a)and (c)/(a) 3R (c)

(a)
(b)

3T Hodidd Hf I fafer Fem § 39 fomnfei & gedied
# g fafy wem & 39 fomffa & weEa &R W
ARERT 78 2

SRR :- THH agd =k # 39 ks Rafq ¥ 8
STt et faery uRftafa & =t &1 o1 o d% WA &
fore fopameliet et 21

Ans : (b) 5= & @ Wafs F & UG §, FalS
gt ¢ 5 W W GRS 39 $e
gafferes syartt fafy @ fo5 frenfial @ ot o &9 fafeit
F GEF qIECIEA i 31U & faftel @ e W em
A 0 3N 37 qeed 39 Sl SEvhdT 21

25.

Parvez is primary class mathematics teacher.

While teaching numbers to his students, he

gives them various sets of objects and asks

them to tell him the total number of objects in

the given set.

He is trying to

AT WAl e T 117:5 T T AEATTR

21 o1 faenfyf=i @t @ e gu, 9% S

TEgeit & fafie wgeem T ¥ oiR 3w Ry

T AT W aEgell it el §EAT SaH h

T =g B

qE ol foeRfid s T TATH T TET B

(a) develop the concept of classification of
objects/a&3 & FffeRtor &Y STaERoT

(b) develop the concept of place value

T 4 &I SEgRon

develop the ordinal sense of numbers

TS & HHGESD A

develop the cardinal sense of numbers

el & W g (FIfEAd) ay

(d) T e & fovers wast g o1 fermfela

ﬁﬂ@r@wﬁg@ 9 3% aeqel %l e A

IR Y R T oy § awqei & Fa

foT e 81 97 HEsi & M T (FEAd) @y

£l ﬁsﬁmﬁ L H TAH H G 2

(c)

(d)

Which of the following evaluation methods
would help unmotivated students in
mathematics classroom?

T O qoich i shia-Ht farfar fore
St helm ® 39 o= & wgEar ol S
M & &7
(a) A common class test/Tsh Trd eyt Tt
(b) A questionnaire/Tsh JIATIA
(c) Activity based evaluation
[ERICKIEEE CITCRGRICE]
(d) Instructive teaching/fEf¥ma fmeror
Ans : (c) TeRameReTT meRa edAieRa - TIATATY
10 T AR R L A R B B (2| G B e S O
TTiRe gfpaar & eR W R @ 2

27. The primary level NCERT mathematics
textbooks include a variety of stories, poems,
riddles and games. The most appropriate
purpose of including them is

wefer Tt TAHISIRE. W T st
' # fafaa wv @ watEr, sida,

TRt i et I 1 3ent witfe

T TR SUgh 3¢9 ¢ -

(a) to reduce the mathematics syllabus./TOTd %

UISIHY I FH HEAT

to relate mathematics to daily life children./

T I et & 2 Sed § Se

to provide leisure activities to children./s=ai

F G F TfafeE e HAT|

to provide for humuor in a mathematics

class./oTd & Fem H BT Ule™ & fow

I H]TH hAT|

Ans : (b) WufF WX & NCERT &I T &l

TEET # fafaw w9 & FRifwe, Hf, wfaE sk

ga W §1 T G & 1 waife ST

32T 21 T H St & A Sfed F e

28.

(b)
(©)
(d)

Which of the following does not represent a
mathematical activity in a "Constructivist"
classroom?

frrafafaa o 9 iA-91 T EmEet’’ war
o wfurcfiar wiaferfir @t frsfa & et & 2
(a) A child sorting different shapes

U s fafe spfael i arfiad & w1 8

A child creating a story based on a
mathematical concept

T& oear T SguNen W mHiRd TS

FEFT I T @8

A child drawing graphs based on the

collected data/TUsh S=aT TH{AT STheSl & MR

T A & @ 2

A child copying questions

blackboard/Us F=al T

w0 for @1 2

Ans : (d) T ‘TEAEE FeT H O Tfafafy st

21 B g G @ AT S # Wik &9 S

B @ G 2

3BT~

1. U e A STplaa i afih e Tl 21

2. U Tl TOE SEUROT W SR Th hel
T B T 2

3. U sedl THEA SAhel % SAER W A a1 @I 2

(b)

(c)

fyom the
Tl @ AhA

(d)
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HA: T or=d] TAHIS U T B Ahel Hlh g @I 2
77 TEE e S Tl T @ i e g
fo % 39 fgra & #ed §1 A fEmdf e 9w
F T AT fAiT AEReT § SR o gT o1
Al T wE F B

29.

Which of the following is most appropriate for
a Diagnostic test?

frafafad ¥ ¥ @E-91 et uhemstt &
ToTT woe Sugh § ?

(a) Helps to know the gaps in the child's
understanding/ﬂﬁ I qug § | TE A B
TgeA # Weg B 7

Used for giving feedback to the parents/HIdl-
e 1 wRgfy 23 & SwEnh &

Helps to label the children/ar=dai & ATHHTOT
N # HaE I 2

Helps to make questions to be asked in the
term-end examinations/S3-3id wlemsi § @
S AT Y bl T § 7EE FAT 7

Ans : (a) e whe - FemEs gder 9g W
21 e g oE! & guene & aar R S 8|

(b)
(c)
(d)

TYATER-
e adensli % U ged Iugw SuE @ 5 e
TN g= & 9ug § | TE FHE B UgEE S 2

30.

In a classroom a teacher introduces the concept
of areas to fifth grade students using only
rectangular and square shapes. A child gets up
and asks the teacher '"What if I want to find
the area of my room which is not a rectangle or
a square'"?

Which of the following skills/behaviours is
being displayed by the child? .
ek TereR /fnfarent uierelt et o feremff=t =
ShHET I TFLNUN AT YR I3 ¥d hael
SR TS TR STTeRferl AT YT Shial/
wat B wwm fammeff @er @ & eiR
foraren/forferemt & gt § Aty AT owa T &
JTATRR R T & TR § R F Iwewr
AARS AT HEAT TTeT § o T8 KE AW
@Tﬂ”?

e g fAffad ® ¥ &iA-|1 ®ive/
HER yefvia ferar & 872

(a) Lack of complete understanding of the

concept of area/ST®A N FERUT FH T

Ans : (d) fo&TF 5 &% I EURIT H UgH & U
HI SFABR R SR AHHT BT AT fBar 1 T 2
T R I=d g0 I8 IS % U F T & SATAHR 3K
T & iR 21 THH GARA A BT G § A IuH
I FEER TH AT TE ThUl TOME §HEnr W
URA T I T 3|

Environment Studies

YITUT 37T

1. A person observed the lifestyle of the people of
rural areas of a State and expressed his view as
under "The living is very simple. People grow
eatables such as tapioca and coconut in their
courtyards and they enjoy eating the food
prepared using these eatables."

Tt = = Tt oo o omfior &t & @
&t SAra-Iielt T AW Heh U Rt Y
T YN SA<h TohalT ' T@l T Te-He |rersur
B T @ w aeget Se SfreiieRTt ((sETET)
3T AT T AU T & A & S §
T 378 o9 WA @ o 9 @ 21
TE TS BT <MY
(a) Kerala/&te (b) Assam/379H
(c) Telangana/da AT (d) Odisha/3TfEem
Ans : (a) 5 =i 3 fFd T~ & amdor &7 & A
I Sae iell &1 Y& ik O faER & 39 YHR oh
fepam “Tet BT T Ted WUROT B A W aged 99
2fyefiehT (shaen) iR TREe &1 oo R’ & ot # &
IE ¢ 3N S99 o9 @H & 9| ¥ @ g1 3 Se gl
e T | Gaiferd 2|
Are- o9y 1 Y@ FSH 9GRS B 31 3Ed gud
@ it ot H TR IR fig ¥ 9 URS & Wy gwE
ST 2|
2. Consider the following statements about the

"Jhoom Farming" practised in the forests of
Mizoram.

s & SiTell § @t W arelt W @t &
TR | ot fou U el W faem i
(a) After cutting one crop the land is left as it is
and nothing is grown there for some years/Tsh
HHA FeA &k G 39 g B G B
g,wwwaﬁwwﬂﬂ?ﬁmw
|

K (b) The bamboo or weeds which grow on that
T H land are cut and burnt/3H ¥ W I aTel
(b) Child is displaying a rebellious behavior FfGr 2R GRATIRI Bl HIEHL AT &7 AT 2
S\ e @8 (c) The land is then ploughed deeply before
(c) Child is being mischievous in the class/a=dl sowing the seeds/3T% T #IW A4 T Uged
e H Il @ @ 2 39 9ff 1 TRY ST ST R

(d) Child is posing a meaningful and 10g1031 (d) Chemical fertilizers and pesticides are used
mathematical problem/s=dl T Yol wd as per need /AT e 3 HeATeH

AUt T W 95 @ SYANT SATTIHATIR fhal ST 2 |
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In one farm different types of crops like
maize, rice, chillies and vegetables are

grown/T% & @ ¥ - TR & w9 9
garﬂ, wrge, e Sl wissral sl ST S
|

The correct statements are/Hgl 5 &
A,Band C/A, B 3R C
B,Cand D/ B, C 3 D

(¢) C,Dand E/C,D 3R E

(d) A,BandE/A,B 3R E
Ans : (d) ST & Sl # @ 99 At gm
Waﬁﬂﬁ%m%ﬁs@wm%q
H Gl B A ¥, I W FS Al @b
S 81 W g W I At aEl
FHL Sl foar o & 3R U & @ §
% HEA 99 TehI, dee, e S gl
21 wwﬁﬁnﬁmﬁﬁ@(m, (B) 3R (E)
Saf A a9 wed g B W T S g, 3R
TQrEfTE 3%k BT JANT TE A ST 8, 39 ER (C)
3R (D) H9H T 2
3. Solve the following riddle.

""Small and round like a pearl

I am black when I am fine ground or coarse

A sharp and spicy taste is mine

Whether it is salty or sweet

I am added as a special treat.

Think and tell me who am 1?

Tell me quickly who am I?"

The solution is

er <t et el i e S
‘‘ hTCT-hTeT et St

Bt W e §

ardten et = axed

# e wg areft §

i3 o THah=

A # Tt e £

wreit-wreh @ f

ot S A E 2

FHRT T §

(a) Pepper/arait ford (b) Cardamon/SeId=t
(c) Mustard/STHt (d) Clove/diT

(e)

(a)
(b)

4. Which one of the following can find his female

from many kilometres away by her smell?
frafafga & @ ®F-W T AUt WEr v
IR T W HE feRedier W A € uge

() Aar e ?
(b)  Silkworm/ATHH

(a) Eagle/darst
(c) Mosquito/H=sT (d) Butterfly/foet

%l%wﬁaﬁwﬁaﬁ@ﬁmm%
W W B o T TR & UST W W Pl H G
ST & 3R 396 g H1 THEA Fh WA % HER A

(a) “HeA-hled AT S
B E W WA §
e fOE a1 =l
# fg @ A §
WS iR THH |
A H el St €
gt e i § §
et et FH § §

Ans :

I8 TRl el e § Gt o |

Ae:- WH FT U & ST H GOHear Fal I 2|

5. Select from the following cities where most of
the people enjoy drinking of hot Kahwa with
almonds and cardamom.

frafafed & @ 39 I W gHT @ F
JTHRTIT T TEATarelt SN STE™ STEAT §AT TH
wgat HiA T To & g

(a) Shilong/fraT (b) Mysore/F

() Hyderabad/?"ﬂfaﬁ (d) Srinagar/F TR

Ans: (d) FFTR % SAMRHT T e SN SEH gl

g3 T el € TS B g

T qaf aRd % Ts7 Herer § Rgd e v wa

TS O S TS €| Weerd # WSS %

TGER % S B0 § 3 T SRR IR A welt @

TG B & | A S T ATl ASAl H AER FGRr

T # AT B

TR B HYET ol gatErdl o &

6. A person visited most of the rural areas of a
State and gave the following description about
the structure of houses in which the people live.
"Because of heavy rains the houses are made
almost 3 m to 3.5 m (10-12 feet) above the
ground on the strong bamboo pillars. People
use ladder to enter their houses and at night
the ladder is removed. The insides of the
houses are made of wood and the roofs are
sloping."

This State must be

Tereht =afvm = fereft oo o stfrentyr amefior &=
T YA AT ST FEf N9 U & u{ H AR
TEd € Sk e ok aR ¥ el faemor
feam

“arft Tut F % RO Tl o TR WU |
T 3 Hex ¥ 3.5 e (10-12 W)
FE W ANEA 919 ok @I W a1 AN I
T Yoy i o T € T FERT R § AR
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Tq & gud i ger @ §) A W I u o
TRE & I ¢ AR 3R B 2] E1

g TS BT AT

(a) Himachal Pradesh/fRHr=ret EEN)
(b) Mizoram/fH=iRa

(c) Jharkhand/sR@Us

(d) Assam/3HH

: (d) fre =fs 3 et 7= &, e
wwmaﬁiaﬁﬁmw%aﬁﬁvﬁv@ﬁ;‘

M- TH TSR & 0 &I 99 #§ Reee 889 Fad 51

7. In the tourist guide of Delhi a map is given. On
this map at its one corner it is mentioned. Scale
1 cm =990 metres.
If on this map this measured distance between
any two places is 21.2 cm, the actual distance
between the two places is (close to)

feeelt it e e W e WHte fgar @ )
T WA & T v W fa@r 1 dumr
A=HER = 990 Hiew

Tfe 3@ Ao UT feR=l S Tt /el & e
@ gl 21.2 S<der urft R %, A 3= o
Tt o ofter ot areferes gt (frehean) B-
(a) 22 kilometeres/22 fhatiiex

(b) 21 kilometeres/21 fepetmiiex

(c) 20 kilometeres/20 feparieT

(d) 19 kilometeres/19 fepetmiiex

Ans : (b) 2RE TEE F wAfE § Ry T AW F

HATER,
1 TR = 990 Hrex (feam T §)
21.2 §dieT

A T & F F aEs g =21.2 I (fam T @)

Malaria and Typhoid/FeiRar 3R framdt @R
(TEHIES)
Chikungunya and Dengue/ﬁ?ﬂm 3R @"1
Cholera and Typhoid/%sﬂ R ferdy @R
(TEHIES)
(d) Dengue and Cholera/@ﬁl 3R &S

(b) TS0 BT Hher/8H arel & W 6 I SIS

3 BT §1 S U Aesd S SwiEd

Fardt @ S S AeRg (Y T EeRE) & BT @ 2|
THH TR TS H FE o9 TSN TSA 78T €9 9
T S g A 2
T gER B TS F@R F AW F o JET S 2
78 TR fasEn, 9 =R, iR Sfer wswwer s ot
qEH Bl UEE  Adel-St| U FREET e
(N.V.B.D.C.P.) & 3TUR 9Rd # : dgI S(d R
fogd, waftar, 27, frbles EEARal, HANR, SO
sy ik frfar e 21
Ae- S F YW - 99 JE@R, @9 W 996 S
AT T qgT WU SR el &1 ad e 2
o f-an & sE dv- R &€, o%W, S § &)
3T I B |
9. Select from the following a pair of birds having

excellent sight and see things distinctly four
times as far as we can.

frfafaa & & ot &1 @8 I (SEn)

gie =t 3 98 gt € i el e §

=R T T aegaedl Tl WY 9E HWehd 2

(a) Crow and Kite/®137 3R e

(b) Eagle and Vulture/dTst 3k firg

(¢) Sunbird and Eagle/Seh@RT 3R a1t

(d) Crow and Vulture/®Hi3T 3R firg
Ans : (b) TR & & 3R firg & gy o= Rl
T § 9% St § o ¥ g o # Wm T gf
TG F W AW TH T A T Rl el 3 v
TG ITd q9 92 gC & § S 39 a9 N ¥ IA 3R
3G T @ 1ot fem age § werEd # €
Hre:- g & # wafawer a9 ud Soarg akade W A S
7 gl & " & fau s g s aemr 2020-25°
& 2

(a)

(b)
(©)

Ans :

&l
Ell

Al T % S EU 10.  The State in which the word 'Torang' is meant
1 gt =990 . @ for jungle is _
21.2 . =21.2x990 = 20988 . TqE T, Tl AT w3 S €, wA-|
Hrex & fopantiex # aeH & T 1000 Hex § W €
20988 (a) Mizoram/fsT A
- 1000 = 20.988 TehelHHIC (b) Jharkhand/gREUsS
HT: I M h A H awaraw g8 (FeEweaw) = 21 (c) Arunachal Pradesh/3T&0T=a ST
feperiex 21 (d) Chhattisgarh/addTe
8. Select from the following a pair of diseases ||Ans : (b) T 9 & 374 FR@UE # A T 2|

spread/caused due to mosquitoes.

$TH AN FRGUE F A g A S g,

frafafiga & 9 7=30 R R /2 Aot Y| [Sa &1 aule s & 7T dIT wes & SA R S
I & I (W) = g | 31 TREve wied &% TS % offeardl &3 § @A A
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sffearht wHEEl ¥ FSH WaW oAfUE aren S aren

amrstt # § S 21 W@ U sl 9 2

- orfeadt & @ ? S S % U9 Wl 9 3R

AT g SEdl S AieE, q@ SR AU Sa W

faeft = 21

11.  The house of a students is at X and his school is
at Y and there is no straight path between X
and Y. So, in order to reach the school the
student goes first to A which is 60 m to South
of X, then to B which is 60 m to East of A, then
to C which is 50 m to South of B and finaly
reaches his school which is 60 m East of C.
With respect to the school the correct direction
of his house is

feret BT &1 o X 3R SUeRT faame™s Y W §
qur X AR Y & sfter o diefi weew T 2
ara: oo ugem & fau o o uget A W
T ® S X o Sieh SfRT0T H 60 m i TH W E,
Rt o B W ST € St A & ik 9d ® 60 m
@ g W E, R 98 C W I § S B & e
FRTOT | 50 m F TH W ¥ IR o1 W I U
foraerar wgoreT € S0 C % & Ud § 60 m
Th W ) oo & AUy SHE WX w9
ferom 1

(a) South-East/3fRvT-78
(b) South-West/aRIuT-ufzm
() North-East/?)?lT-?f
(d) North-West/3tR-faH

Ans : (d)

60 m Y( )

.
3T e & T 9% TR # §E fRuT Su-ufye 2
12.

A train departed from Bhiwandi Road Railway
Station on 22" November, 2022 at 20:30 hours
and reached Nagercoil railway station on 24"
November, 2022 at 03:00 hours. If the distance
covered by the train between these two railway
stations is 1877 kilometres, the average speed
of the train is (closed to)

T& o7 faaudt U Yo ©yE 9 22 99N,
2022 Rl 20:30 O oA 24 Taw@, 2022
W 03:00 TN TReRSA o7 Ry ug=i afg
3T A 3T A T RYHEN & e 1877
feretrfier =t gt =reft, @ 29 = 3frea oe
(Teheam)

(a) 58 km/h/58 FrerHicy/seT

(b) 59 km/h/59 fFadiey/seT

(¢) 60 km/h/60 fehariexy/siar

(d) 62 km/h/62 frardfiey/ s

Ans: (d)

22 FaER FH FA GHF Tl 2= 24-20:30 = 3:30
23 FaER I FA GHT A 39 = 24 HeT

24 FAER FH FA GAF T 29 = 3: 00

el o FHY = 30 FUT 30 i = 30.5 €

el 79 gt = 1877 for.

S L il
T I

_ 1877 61.54 fodt./gueT

3 61.54 ~ 62 fohHl. /=0T
13.

Three territorial States of Madhya Pradesh are

HE YUt oh i Hwiata wer () §

(a) Gujarat, Rajasthan, = Maharashtra/TsId,
TS, Ay

Uttar Pradesh, Bihar, Chhattisgarh/3iX H%QT,
forer, st

Mabharashtra, Chhattisgarh,

Gujarat, Telangana, Odisha/Tsid, JATH R

(b)
(c) Jharkhand/

(d)

Ans : (a) HO%0 & U1 5 T ¥ ol B (1) 30-qd
(3 W) (2) RO WiEH (FRE) (3) SR gd
(SHTE) (4) STL-UFEH (TSRYF) (5) UfEM o | 7
Ry guid: IR SR Torel § BRI gem 21 wRwr st g
@ fedt gl g o wef e @ s oA & fd
FUEE G B T W F wey § feq 8, @iy g9
ged YN off e ST 81 &kl gy ¥ TR % AR
G0 G 5T T £ |

e:- ToF H SAehad G I T F A 2

14,

]

A group of States having Coast on the Arabian

Sea are

TEl W 9% Ueh AHE G0 ek wyzae i
AR T & -

(@) Tamil Nadu, Odisha, Andhra Pradesh/

S, , 3Ty w_w
(b) Kerala, Karnataka, Maharashtra/ae s
Frleeh, HENY
(c) Gujarat, Maharashtra, Odisha/TsRId, HENIY,

(d) Gujarat, Kerala, Telangana/TsId, A,
E E'

Ans : (b) B, FAlewh, FENY, Mal 3R ToRE TF
INT R & de W e €1 Sefh smovo, MfEIM 3R
T STt S @ % q¢ 9 fed 2

9RA U Fgd 9 diliferh R aren 2w 21 I ¥ 78
femer % o9 fredl @ fow €1 ufew H owe whR, @@ |
TN H WS a9 ST § KT AeErR aRdE TEgY &
AT AT S B

AS:- TFET WA H1 98 A 8 S A W@ 5 § B
BT 2
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15.  Select from the following a pair comprising one

State and one Union Territory of our country.

frafafiaa & | a8 goer i o gon o &
T T AR Ts w5 A wew A frere
AT B
(a) Lakshadweep and Puducherry
EEERIEI e
Chandigarh and Delhi/< TG 3R faeeh

(c) Nagaland and Ladakh/qmTeive 3 SELE]

(d) Manipur and Meghalaya/tlﬁTﬂT 3R T

(¢) AT 3R e T gIR <9 & HAW: TH
Wﬁ@%@ﬂ@ﬁﬁﬂ@ﬂﬁ%%
9 3G HfSd 3HE Pl Ped & S UH WEA (TWIHR) &
T 81 IS TS B YA e fHurHISS B @
T S TST 1 R Fgf 1 A B 2
FHENT TS A1 Ho-ToAe IR & Horg TemEias e
F TH I9-TP TS SHE €1 IRG F TP TS
FHEIMHT T2 & U T TWHA TGS a1 3T Toqdied
T T |
16.

(b)

Rama was referring to attention, memory,
problem solving and planning. She was
focusing on -

T I, WRUDIh, TUET GuEnE 3iR

ﬁmmﬁwaﬁ@aﬂ@ off| o8 Wehfesa

off -

(a) Peer pressure/THEHE &9 T

(b) Social skills/EMHTH Higre T

(c) Collaborative skills/ggantt et |

(d) Cognition/HIH T

s : (d) T SEYM, SWHURIh, UE GHEM 3R

AT T H oo @ A 98 GIH W Hohimd ot
T O &1 o1 § S O 9NeT | 9% US U} aifen
siehen @ Rl R % g 99 oW fem Smar 2
YA e 61 H1 TN AFES [GHE & S
ad § fpar w1 21 R gfy F e gm @
TeiiehtoT, TgEH, 3T S 3T 2 |
HE:- WA TR I B A T AR |
A e WA FAifEE W S 1967 30 H foRa
o7
17.

An EVS teacher instructs children to group
fallen leaves of trees on the basis of shape, size,
texture etc. The purpose of teacher is to

enhance—/‘s“éﬁw aﬁﬁTWﬁWaﬁ‘q’@ﬁ
it ¢ ufvai il SR, W, FATIE TS
%mwwﬁﬁmﬁuﬂwﬁ%ﬁ%mﬁql
Rrerer T SEIT © -

(a) understanding of leaves

Ans: (b) 3A.TH. & TS Ik 3 a=ai & el &
ofedl & 3R, AEMY, SAES I & YR |
' ¥ frdw fau ueht nfefafr & sm
JTAEHA IR aHffRToT Frore

WA 2- @ § 3@, 59 YHR eclieh
Ul & Se STadihasdl @E gl e T SR
m@ﬁwm@ﬁé@méﬁtmﬂw

What can an EVS teacher do to make students
aware about environment and develop a
perspectlve for environment?

W gIieur R T YATARUT AT &Y

WNTEehdl A o oI Ueh uaiawur stegee
ToTeTeR SRIT Y WehdT 87

(a) Teacher will tell about limited availability of

biological and physical resources for making

objects of daily life./f¥mere 3 Elﬁ El'ﬁj?ﬁﬁ
H T F TN I A e g wifie
T T i SYsET i SATT |

Teacher will tell about the effect of human
behavior on flora and fauna around them/

e o0 STH-Ud Iufgd FEfT 7 qE
W AT HFER & TG Bl FAT |
Teacher will show national and 1nternat1ona1

documentary films/f¥ers g 3w sfafdfa
glergHed oo fammam|
Teacher will tell the importance
deforestation for industries/f¥e/
% foIU o IIe o Hetd sl FHEIT|
Choose the correct option :
A,Band D/ A, B 3R D
A,Band C/ A, B 3R C

(¢) B,CandD/B,C 3iRD

(d) A, CandD/A, C 3D
ns : (b) faafa § watauor gfesor 9 afar 3= #t
STEehdl M & o Ueh TaiaRul g &1 e 399
W TG B A F YA B At Sifaw g wfifis
gl i UGS HI S| 1O STH-UTH
Jufted Fwfadl 9 W W AME FEER & T9E
FATE 3R T qer SFE Steged fhed famame
TAEROT STEAIT H UM B Se¥T S=dl § GHERUNE
TaEE % o H STEedl Jar S SN qEER i
I S et % SR ¥ A 99 g6 F 2

(b)

(c)

() of

(a)
(b)

el & fover & s ww A afs 19. Arrange the following steps involved in
(b) observation and classification skills practising activity-based learning in proper
el 3R o Hrered & g sequence—
(¢) knowledge about leaves/dftdl & I # gfg TeramereTa-menfia T o v o ffga
(d) fun element in her/his teaching/ﬂ@ 3T frafafad oo & @& ®wA W oHafed
& s o W 9 -
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